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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 2 DEFENCE AND STRATEGIC STUDIES QUESTION PAPER

Topic:- 11D55_A

1) Book entitled ‘Security : A New Framework for Analysis’ co-authored by Barry Buzan, Ole Waever and Jaap de Wilde is
related to :

(1) Realist School (2} Idealist School

(3) Welsh School (4) Copenhagan School
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[Question ID = 2347][Question Description = Q01_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8851]
2. 2

[Option ID = 8852]
3.3

[Option ID = 8853]
4. 4

[Option ID = 8854)

2) Which one is not a strength of the counter insurgent?
(1) Absence of problem (2) National consensus

(3) Resoluteness of the counter insurgent leadership (4) Resoluteness of the insurgent leadership
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[Question ID = 2348][Question Description = Q02_DSS_SHAAN_NOVZ1]
1. 1

[Opticn ID = 8855]
2. 2

[Option ID = 8856]
3.3

[Option ID = 8857]
4. 4

[Option ID = 8858]

3) ‘Golden Age’ or ‘First Wave’ of security studies is referred tobr
(1) Discourage civilian contribution to the study of strategy (2) Civilians extensive involvement in military planning

(3) Balance of terror (4) Revolution in Military Affairs (RMA)
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[Question ID = 2349][Question Description = Q03_DSS_SHAAN_NOV21]
11
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[Option ID = 8860]
3.3

[Option ID = 8861]
4. 4

[Option ID = 8862]

4) Who is author of ‘‘Defeating communist insurgency’?

(1) Robert MacNamara (2) Robert Thompson

(3) Henry Kissinger (4) David Galula
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[Question ID = 2350][Question Description = Q04_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8863]
Z. 2

[Option ID = 8864]
e

[Option ID = 8865]
4, 4

[Option ID = 8866]

%) Preventive diplomacy aims :
(1) to ease tensions before they result in conflict (2) to take action unilaterally

(3) to create conditions for peace through peacekeeping forces (4) to address the issues through impartial and
accountable international legal system
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[Question ID = 2351][Question Description = Q05_DSS5_SHAAN_NOV21]
g et

[Option ID = 8867]
2. 2

[Option ID = 8868]
3.3

[Option ID = 886%)
4, 4

[Option ID = 8870]

6) Which theory is based on objective ontology and subjective epistemology?

(1) Game theory (2) Communication theory

(3) Critical theory (4) Decision-Making theory
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[Question ID = 2352][Question Description = Q06_DSS_SHAAN_NOV21]
154

[Option ID = 8871]
3ol

[Option ID = 8872]
3 3

[Option ID = 8873]

4. 4

[Option ID = 8874)
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7) ‘A warfare between opposing forces which differ greatly in military power and that typically involves the use of

unconventional weapons and tactics’ is called
(1) Cyber warfare (2) Conventional warfare

(3) Asymmetric warfare (4) Information warfare
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[Question ID = 2353][Question Description = Q07_DSS_SHAAN_NOV21]
i

[Option ID = 8875]
7.2

[Option ID = 8876]
3. 3

[Option ID = 8877]
4, 4

[Option ID = 8878]

8) COBRA in the context of CRPF stands for
(1) Commando Battalions for Rapid Action {2) Commando Battalions for Reactive Action

(3) Commando Battalions for Resolute Action (4) Commando Battalions for Response and Action
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[Question ID = 2354][Question Description = QO8_DSS_SHAAN_NOV21]
1.1

[Option ID = 8879]
3.2

[Option ID = 8880]
a3

[Option ID = 8881]
4, 4

[Option ID = 8882]

9) Which one s not related to ‘Cooperative Security’?

(1) Inclusivity (2) ‘Opaqueness’ rather than Transparency
(3) An Alternative Security Framework (4) Cooperation among the armies in war
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[Question ID = 2355][Question Description = Q09_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8883]
2. 2

[Option ID = 8884)
3 3

[Option ID = 8885]
4. 4

[Option ID = 8886)

10) Which country envisaged ‘Schlieffen Plan’?
(1) Germany (2) France

(3) Russia (4) Britain
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[Question ID = 2356][Question Description = Q10_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8887]
2. 2

[Option ID = 8888)
£

[Option ID = 8889]
4, 4

[Option ID = 8890]

11) ‘Declaration of the Rights of Man and Citizen’ was issued by

(1) United Nations Organisation (2) French National Constituent Assembly

(3) League of Mations (4) Peace of Westphalia
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[Question ID = 2357][Question Description = Q11_DSS_SHAAN_NOQOV21]
1.1

[Option ID = 8891]
7.2

[Option ID = 8892)
a3

[Option ID = 8893]
4, 4

[Option ID = 8894]

12) Who propounded that ‘the objective of the war is to compel the enemy to submit to your will’

(1) Carl Yon Clausewitz (2) Fredrick the Great

(3) Sun Tzu (4) Liddell Hart
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[Question ID = 2358][Question Description = Q12_DSS_SHAAN_NOV21]
154

[Option ID = 8895]
2.2

[Option ID = 8896]
3 3

[Option ID = 8897]
4. 4

[Option ID = 8898)

13) Which one of the following is not principle of ‘Common Security’?
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(1) All nations have a legitimate right to security (2) Security cannot be attained through military superiority

(3) Restraint is not necessary in expression of national policy (4) ‘Linkages’ between arms negotiations and political events

should be avoided
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[Question ID = 2359][Question Description = Q13_DSS5_SHAAN_NOV21]
1.1

[Option ID = 8899)
2. 2

[Option ID = 8900]
3.3

[Option ID = 8301]
4, 4

[Option ID = 8902]

14) In conflict resolution, ‘Ripeness theory’ was propounded by
(1) William Zartman (2) Johan Galtung
(3) C.R. Mitehell (4) Walter Zimmerman
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[Question ID = 2360][Question Description = Q14_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8903]
2. 2

[Option ID = 8304]
3.3

[Option ID = 8905]
4, 4

[Option ID = 8506]

15) With regard to spread of nuclear weapons, ‘More may be better’ is a proposition made by

(1) Joseph Nye (2) E.H, Carr
(3) Kenneth Waltz (4) Alexander Wendt
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[Question ID = 2361][Question Description = Q15_DSS5_SHAAN_NOV21]

1. 1

[Option ID = 8307]
2. 2

[Option ID = 8908]
3.3

[Option ID = 8309])
4. 4

[Option ID = 8910]

16) Indian Navy’s IFC - IOR is located at
(1) Mumbai (2) Gurugram
(3) Vizag (4) Cochin
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[Question ID = 2362][Question Description = Q16_DSS5_SHAAN_NOV21]
1. 1

[Option ID = 8911]
2. 2

[Option ID = 8912]
3.3

[Option ID = 8913]
4, 4

[Option ID = 8914]

17) In 1990’s, Cryogenic Engine Technology was denied to India by which country?

(1) Israel (2) America
(3) France {4) Russia
1990 % 3ok =l YT o Fefeifag d O -8 <91 3 9Rd A FESEE 399 Seifeh 3 ¥ 1
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[Question ID = 2363][Question Description = Q17_DSS5_SHAAN_NOV21]
g et

[Option ID = 8%15]
2. 2

[Option ID = 8916]
3.3

[Option ID = 8%17]
4. 4

[Option ID = 8918]

18) In 2015, GRSE finalised the design of a series of 140-tonne fast patrol boats for

(1) Indonesian Navy (2) Vietham Navy

(3) Cambodian Navy (4) Thailand Navy
T9 2015 H, SheoRuEs 7 Fefatga § # s 6 140-39 T W2e 9 g@en % 59 % aan
e
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[Question ID = 2364][Question Description = Q18_DSS5_SHAAN_NOV21]
1.1

[Option ID = 8%19)
2. 2

[Option ID = 8920]
3.3

[Option ID = 8921]
4, 4

[Option ID = 8922]

19) LEMOA was signed between
(1) India and Australia (2) India and America

(3) India and Austria (4) India and South Africa

wimisn (LEMOA) Fr=fafias % e swaraia gan
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[Question ID = 2365][Question Description = Q19_DSS_SHAAN_NOV21]
T

[Option ID = 8923]
2. 2

[Option ID = 8924]
3, 3

[Option ID = 8925]
4, 4

[Option ID = 8926]

20) APEC stands for
(1) Asia Pacific Environmental Cooperation (2) Asia Pacific Energy Cooperation

(3) Asia Pacific Economic Cooperation (4) Asia Pacific Emergency Cooperation

i (APEC) 1 90 &9 2 :
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[Question ID = 2366][Question Description = Q20_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8927]
3.2

[Option ID = 8928]
3 3

[Option ID = 8929]
4. 4

[Option ID = 8%30]

21) “*Our digital infrastructure will be treated as a strategic national asset’ - was a statement made by

(1) Bill Clinton (2) Bill Gates
(3) Barack Obama  (4) Steve Jobs
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[Question ID = 2367][Question Description = Q21_DSS_SHAAN_NOV21]

1.1
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[Option ID = 8931]
2. 2

[Option ID = 8932]
3.3

[Opticn ID = 8933]
4. 4

[Option ID = 8934)

22) PSI was an initiative of
(1) United States of America
(3) United Kingdom

PSI UF 92 & —

(1) TIF 59 i

(2) United Nations
(4) United Arab Emirates
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[Question ID = 2368][Question Description = Q22_DS5_SHAAN_NOV21]

.
(3) lets 'FJF‘_E')'H
1.1
[Option ID = 8935]
202
[Option ID = 8936]
5 .
[Option ID = 8937]
4. 4

[Option ID = 8938]

23) INS KORA is a
(1) Minesweeper

(3) Submarine

INS KORA 2
(1)  FO1 A
(3) g

(4) Dredger

(2) Missile Corvette
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[Question ID = 2369][Question Description = Q23_DSS_SHAAN_NOV21]

ti:

[Option ID = 8939]
5

[Option ID = 8940]
3.3

[Option ID = 8941]
4. 4

[Option ID = 8942]

24) Which among the following does not constitute Triadic structure of conflict

(1) Conflict situation

(3) Conflict behaviour

(2) Conflict attitude

(4) Conflict manipulation
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[Question ID = 2370][Question Description = Q24_DSS_SHAAN_NOV21]

1. 1
[Option ID = §943]
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[Option ID = 8944]
3.3

[Option ID = §945]
4, 4

[Option ID = 8946]

25) SAARPSCO is a

(1) Technological stability cooperative (2) Political stability cooperative
(3) Port stability cooperative (4) Passenger stability cooperative
SAARPSCO 2
(1)  daeh feomar aesr (2) TsHita® fOra gagwn
(3) 9w (@mEn) forar agsr (4) = ferar 9gar

[Question ID = 2371][Question Description = Q25_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8947]
2. 2

[Option ID = §948]
3. 3

[Option ID = 8949]
4, 4

[Option 1D = 8950]

26) COPUOS is associated with

(1) Sea bed treaty (2) Antertic treaty

(3) Open skies treaty {(4) OQuter space treaty
COPUOS @sifird 2 -
(1) T IR oy (2) v wiy
(8) T W WY (4) =T ANE (TSR TW) WY

[Question ID = 2372][Question Description = Q26_DSS5_SHAAN_NOV21]
2 B

[Option ID = 8951]
1)

[Option ID = §952]
3.3

[Option ID = 8953]
4, 4

[Option ID = 8954]

27) IDC and IMS were established as a result of
(1) NPT (2) CTBT
(3) PTBT (4) TTBT

IDC 3R IMS ferass uftomrerey woifia g2 47

(Iy NPT (2) CTBT
(3) PTBT (4) TTBT

[Question ID = 2373][Question Description = Q27_DS5_SHAAN_NOV21]
1. 1

[Option ID = 8955]
Lok

[Option ID = 8956]
2.3
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[Option ID = 8957]
4. 4

[Option ID = 8958]

28) Fissile Material Cut-off (Treaty)

(1) is a treaty that has entered into force (2) has been signed by state parties
(3) has been signed but not ratified (4) neither signed nor ratified
fraiger Hefae e air (Tl
(1) v i R (2) T=F 9L g wEaaid 2
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[Question ID = 2374][Question Description = Q28_DSS5_SHAAN_NOV21]
1. 1

[Option ID = 8959]
2, 2

[Option ID = 8960]
3.3

[Option ID = 8%61]
4, 4

[Option ID = 8962]

29) Full dialogue partnership between India and ASEAN
(1) did materialise (2) was rejected by ASEAN
(3) ASEAN agreed but India refused {4) has been put on hold

aTd iR fH (ASEAN) % sfiw ol wang wefierll (% s widatim) -
(1) =2 (2) onfiEm g sl w4
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[Question ID = 2375][Question Description = Q29_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8%63]
2. 2

[Option ID = 8964]
3.3

[Option ID = 8965]
4, 4

[Option ID = 8966]

30) Which of the following is not part of ‘‘String of Pearls’’
(1) Pakistan (2) Myanmar
(3) Srilanka (4) Vietnam

fFfefiaa 9 9 s-m e o1ie vod| = e 76 27

(1)  wte=E (2) =mER

(3 e @ Frmm
[Question ID = 2376][Question Description = Q30_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8%67]
2. 2

[Option ID = §968]
3.3

[Option ID = 8969]
| 4. 4
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[Option ID = 8970]

31) ““Without a political goal, guerrilla warfare must fail, as it must if its political objectives do not coincide with the
aspiration of people and their sympathy, cooperation and assistance cannot be gained’’. Who gave this statement?
(1) Marx (2) Lenin

(3) Mao Zedong (4) Che Guevara

‘THifE @Fm % A SR 12 Tefa seee B 9 e, S R 5@ e o = 9tz sees aeifae
SETA APT <l AT ¥ U TEl @id & 991 b weryfd, SEAn i Aemar W A8 w urd | - FRaen
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[Question ID = 2377][Question Description = Q31_DS5_SHAAN_NOV21]
1.1

[Option ID = 8971]
2.2

[Option ID = 8972]
3.3

[Option ID = 8973]
4. 4

[Option ID = 8974]

32) LIMO refers to

(1) Long Intensive Maritime Operations (2) Long Intensified Marine Operations
(3) Low Intensity Maritime Operations (4) Low Invisible Maritime Operations
LIMO 1 &9 2
(1) & sfim oiiery s (2) S SIUBES WA ST
(3) @ i alery siwwm @ o sEtsee ol ey

[Question ID = 2378][Question Description = Q32_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8%75]
2. 2

[Option ID = 8976]
3.3

[Option ID = 8977]
4, 4

[Option ID = 8978]

33) Imperialism is a belief that -
(1) Under developed or less developed people need civilising (2) All people are equal

(3) It is the duty of powerful states to dominate weaker one (4) Invading other countries in an appropriate way to
extend state’s power

TIHTSIATE TF GRon ¢ -
(1)  srouferpibd AT =vn ferepild <N =p GEST 94 =l TETTHAT 2

(2) =t I R 2
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[Question ID = 2379][Question Description = Q33_DSS5_SHAAN_NOV21]
|

[Option ID = 8%79)
2.2
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[Option 1D = 8980]
£

[Option ID = 8981]

4, 4

[Option ID = 8982]

34) The core assumption of ‘Neorealism’ is that

prepp
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(1) Institutions are key factor in international politics (2) Anarchy is a key determinant of an actor’s
behaviour
(3) Institutions play no effective role in international relations (4) The importance of absolute gains outweigh

that of absolute losses
TamneaTe e w3 6 -

(1)  Aawad Tt o gend gy gk §
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[Question ID = 2380][Question Description = Q34_DSS_SHAAN_NOV21]

Pt

[Option ID = 8%83)
2. 2

[Option ID = 8984]
3.3

[Option ID = 8985]
4, 4

[Option ID = 8986]

35) Which one have played central roles in the study of ‘International Conflicts’?
(1) Location, Distance and Space (2) Geography, Space and Interaction

(3) Territoriality, Geostrategy and Willingness (4) Territoriality, Proximity and Spatiality

‘ST woE * e 1 fretataa O U e S gt W R

1) st g of B () i, W R ST
(3)  quviEm, Y-Fita 3 soamh (4) oriiE, afimar i TuTtee

[Question ID = 2381][Question Description = Q35_DSS_SHAAN_NOV21]
R

[Option ID = 8987]
2. 2

[Option ID = 8%88)
3.3

[Option ID = 8989]
4, 4

[Option 1D = 8990]

36) The term ‘MCPP’ refers to
(1) Marine Commandos proper planning (2) Marine Capability Perspective Plan

(3) Maritime Capability Perspective Plan (4) Maritime Capacity Proper Planning

MCPP 92 =1 3T 2 -

(1) A oIS 9T =T (2) T wfalerdt yaulFed i
(3) e wfEREl wdea e (4) THIZES FUEd W9 W

[Question ID = 2382][Question Description = Q36_DSS_SHAAN_NOV21]
1. 1

[Option ID = 8991]
2.2

[Option ID = 8992]
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[Option ID = 8993]

4, 4

[Option ID = 8994]

37) ‘Coming Anarchy’ is a term propounded by

(1) Robert D Kaplan (2) Morton Kaplan
(3) Rajendra Pachauri {4) Donald Trump

‘it TRt Feaes g fem e ug 27

(1) T=e S F=m (2) dZ T

(3) U= T (4) sHEE
[Question ID = 2383][Question Description = Q37_DSS5_SHAAN_NOV21]
1. 1

[Option ID = 8%95]
2. 2

[Option ID = 8996]
3.3

[Option ID = 8%97]
4, 4

[Option ID = 8998]

38) CAATSA stands for
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(1) Countering America’s Adversary Through Sanctions Act (2) Countering America’s Adversary Through Security
Act
(3) Comprehensive America’s Advisory Through Space Act (4) Countering America’s Advisory Treaty Act

CAATSA 1 a1itury 2

(1) Sl omihE veaam o O99d e (2)  HISei ST TSaar 9 [Heiie) uEe

(3)  FUERT WY vsAESd o TE U (4)  FS0T SR TeaEed PP T

[Question ID = 2384][Question Description = Q38_DS5_SHAAN_NOV21]
1. 1

[Option ID = 839%9]
2. 2

[Option ID = 9000]
3.3

[Option 1D = 3001]
4. 4

[Option ID = 9002]

39) In 1974, Israel normalized relations with which country?
(1) Egypt (2) Jordan
(3) Syria (4) Turkey

1974 T ToREd 3 578 301 % T1Y 3T TRl 0 ST S 7
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(3  #ifen @ =H
[Question ID = 2385][Question Description = Q39_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9003]
2.3

[Option 1D = 9004]
LN

[Option ID = 9005]
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[Option ID = 9006]

40) Abraham Accords was signed between

(1) UAE, Bahrain and Palestine (2) Israel and UAE

(3) Israel, UAE and Bahrain (4) Israel, Palestine and UAE
e Wl TR ofie o ?

(1) 7, v 2wk o il (2 T SR e

(3) TR, U E i weh @) TomEa, feferdm st g d

[Question ID = 2386][Question Description = Q40_DSS_SHAAN_NOV21]
1. 1

[Option 1D = 3007]
2. 2

[Option ID = 9008]
3.3

[Opticn 1D = 9009]
4. 4

[Option ID = 9010]

41) According to Joseph Nye, Country’s ‘Soft Power’ rests on following resources
(A) Culture

(B) Political values

(C) Foreign policies

(D) Geography

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only (2) (B), (C) and (D) only

(3) (A), (B} and {(C) only (4) (A) and (B) only

FTHE A F FEN oW I wiw g’ Fetetiga gEeE w SR P 2

@) o

B) T T
© oA
D) T

F% fim e frredt § ¥ TR STEE S = Fit)

(1) &= (A) 3 (D)

2 %= (B). (C) 3R (D)

3  Fa@ (A), (B) AR (C)

(4 == (A) 3 (B)
[Question ID = 2387][Question Description = Q41_DSS5_SHAAN_NOV21]
1. 1

[Option ID = 9011]
2. 2

[Option ID = 9012]
%

[Option ID = 9013]
4, 4

[Option ID = 9014]

42) According to Sun Tzu, The Art of war is governed by which of the following constant factors
(A) Heaven

(B) Method and Discipline
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(C) Earth Your Personal Exams Guide
(D) Population

(E) The Commander

Choose the most appropriate answer from the options given below :

(1) (B), (E) only (2) (C), (D} only

(3) (A), (B), (C), (D) only (4) (A}, (B), (C), (E) only

TAcal F HIAR Fg 1 el (At § § -5 ¥ Wqd R g e 2l 2 ?

A T

e

(B) ugfa il argmmeA

St

€ =i
(D) ST
(E) g =arst

=t fau o fopeat A o gem 39E STt = =EE Rt

1) 9 @B), (E)

2) =39 (C). D)
(3)  FaA (A). (B), (C). D)

@  Fae Q). B), (O), ®)

[Question ID = 2388][Question Description = Q42_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9015]
2. 2

[Option ID = 3016]
3 3

[Option ID = 9017]
4. 4

[Option ID = 3018)
43) Kautilya stated in ““Arthasastra’ that ‘‘power is (possession of) strength” and *‘Strength changes the mind"’. This
relates to the following
(A) He sought the power to control the outward behaviour of oneself
(B) He sought that the thoughts of one’s subjects and enemies also change with power
(C) He sought that power and strength makes one arrogant
(D) He sought that strength of the mind makes one powerful
Choose the correct answer from the options given below ;
(1) (€) and (D} only (2) (B} and (C) only
(3) (A} and (C) only (4) (A) and (B} only

wifeea 4 ‘oo’ # sarn e whe, ggar (9 um ge) ® SR Tear Wia o age < @ | 7y Fetatad
o wafa
(A) o= =ahh g &E % G SA9ER $l FEtE 0 $1 7ie =@ o

(B) o= =rEd 9 6 fFeh ot uon oIk o % T wle % my & w5a 9 2
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(C) = e dred 2 5 uitw ot ggar =afe = e o 3 2 Your Personal Exams Guide

(D) =& FaW 9ed 9 % g i gear ke = wkewmed st 21

H= for o fereal § 9 w91 3w =99 Hifm)
1) F= (O) IR (D)
@  F@a (B) 3R (C)
3 == Q) AR (C)

(4)  =has (A) IR (B)
[Question ID = 2389][Question Description = Q43_DSS_SHAAN_NOVY21]
1.1

[Opticn ID = 9019]
%9

[Option ID = 9020]
3.3

[Option ID = 9021]
4. 4

[Option ID = 9022]

44) What are Essential Elements of the state?

(A} Government

(B) Territory

(C) Sovereignty

(D) Army

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) only (2) (A), (B), (D) only

(3) (A) and (B} only (4) (A), (B}, and (C) only

549 % Alar acd o 27

(A) AR
® &
(€  wrg
@ =W

Frat f T Frped 1 § G S S B A i)
(1) &3 (A). B). (C) ek D)

@ w4, B) IR (D)

(3 I (4) 3R (B)

(9  ad Q). ®) R’ (O)
[Question ID = 2390][Question Description = Q44_DSS_SHAAN_NOV21]
1. 1

[Option ID = 3023]
2. 2
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3.3

[Option ID = 9025]
4, 4

[Option 1D = 9026]
45) Samuel P. Huntington in his book ‘The Clash of civilizations’ has referred to the interaction among the following
civilizations
(A) Confucian
(B) Latin American
(C) Slavic-Orthodox
(D) North American
(E) Islamic
Choose the correct answer from the options given below :
(1) (A), (B), (D}, (E) only (2) (A), (B), (C), (E) only
(3) (B), (C), (D) only (4) (B), (D), (E) only

Hegarer 7. gferen A v g R aetm wiw Ufiersmed’ 3 €@ wia-wie o @edet e gneien
form = sg@ T 27

&) e

®) o ol

(C) wifos - sAiiisiaa
D) e s

E s

A fou o famedt B T wdt IE A T i)
1) = (A). (B). D) (E)
@ @), ®). O ®
3 = (B). (©) D)
@  #= B), (D) (B)
[Question ID = 2391][Question Description = Q45_DSS5_SHAAN_NOV21]

1.1

[Option ID = 9027]
2, 2

[Option ID = 9028]
3.3

[Option 1D = 3029]
4, 4

[Option ID = 9030]

46) Mitchell argued in the context of ‘*‘The Essence of Air Power’’ :

(A) In future, no nation can call itself great unless its air power is properly organised
(B) Air power will not only dominate the land but the sea as well

(C) Air power will make role of army and navy irrelevant

(D) Air power will pave the way for use of satellites for national defence

Choose the most appropriate answer from the options given below
(1) (A), (B) and (D) only (2) (A) and (D) only
(3) (A) and (B} only (4) (C) and ([}) only

/™ L T T T ot LR LA e L
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HTE A <34 2ITh = WER—Aacs =k d4GH H a< 1631 19D ] Your Personal Exams Guide

(A) 9T H FE TP T4 B O9 TH TEIAT 741 T2 Tl 2 ST T ST I Wie GeAaread | 3|

(B) amF Wh A Faa YM | q(ed TOR W ft 9YE wr)
(C) o Wifth o=t BT AR 51 F g B st 997 |

(D) 9 Wit TS TR % AT I9El 5 WERT K AP SR B

F9t fom 10 Forpel § & e ST S w1 S B
1) = Q). B) R (D)

2) T Q) 3R (D)

(3)  =Ew (A) 3R (B)

(4)  Ee (C) F (D)

[Question ID = 2392][Question Description = Q46_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9031]
% 3

[Option ID = 9032]
3.3

[Option ID = 9033]
4, 4

[Option ID = 9034]
47) Recent trends in technology development for military purposes indicate a move towards miniaturisation because it is
assumed that
(A) it would improve efficiency and greater flexibility
(B) weapons would become smaller

(C) weapons would decrease the lethality
(D) deployment options may be more

Choose the most appropriate answer from the options given below :
(1) (A}, (B} and (C} only (2) (B), (C) and (D} only
(3) (A), (C) and (D} only (4) (A), (B) and (D) only

T TS % fow TR e 0 T i gt ageo F 9R sl g F 3 = iTe 48 o
T 2 T

(A) 3O HETIEE § AR Z0T SR e Seiern e

B) =R B |

(O = % T 2R o =l s

(D)  drdl % st e @ g 2

T fae o Tl B ¥ O 39S ST W HIe)
()  Fad (A), B) I (C)
(2)  hae (B), () 3 (D)

(3) Faa (A), (C) 3 (D)
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@) 4 (A), (B) 3R (D)
[Question ID = 2393][Question Description = Q47_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9035]
2. 2

[Option ID = 3036]
S

[Option ID = 9037]
4. 4

[Option ID = 3038)

48) In the post conflict Srilanka, India demonstrated its soft power projection through
(A) help setting up coal power plant

(B) undertaking reconstruction of railway lines

(C) setting up a naval air base

(D) contruction of a hospital

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A}, (B) and (D) only
(3) (B), (C) and (D) only (4) (A) and (B) only

99 % v % i 1, WRa 7 FefaiEga % mem ¥ Tl i g sufedtd g
(A)  =iE faga FEa = ToEr O gerar

(B)  To@ T N GAAA F

(C)  A1-UaR sF wfiya e

(D) U ST Bl HEm

#r= for e fEredl § ¥ w91 IR W 999 i)
(1) = A), B) 31 (©)
2  FEd (A), (B) 3 (D)
(3 ¥4 (B), (C) 3R (D)

(@) a9 (A) 3R (B)

[Question ID = 2394][Question Description = Q48_DSS5_SHAAN_NOV21]
2 B

[Option ID = 3039%]
Lol

[Option ID = 9040]
3. 3

[Option 1D = 3041]
4, 4

[Option ID = 9042]

49) In the conflict in the Eastern Mediterranean, which countries among the following are involved
(A) Cyprus
(B) Algeria
(C) Turkey
(D) Greece
(E) Tunisia

Choose the correct answer from the options given below :



WWW.prepp.in

prepp

' {1) (B), (C) and (E) only (2) (B), (D) and (E) only Your Personal Exams Guide
(3) (A), (C) and (D) only (4) (A), (B) and (D) only

el yymen gerts god 1 RiF-k g <71 et £7

(&) wEE
(B) TS
© T

O =

(B)  zifern

= fou e el § 8 w6 s T = Fibm
(1) = (B), (C) 3k (E)
2 ¥ (B). (D) ¥R ()
(3)  F (A). (O) 3R (D)

@ = (A). (B) ¥ (D)
[Question ID = 2395][Question Description = Q49_DSS5_SHAAN_NOV21]
2 B

[Option ID = 9043]
1)

[Opticn ID = 9044]
3.3

[Option ID = 5045]
4, 4

[Option ID = 9046]

50) Broad objectivs of Arms control are

(A) to reduce the possibility of war

(B} to manage the techno-economic balance

(C) to reduce the consequence of war, if it happens
(D) to maximise weapon technology superiority

Choose the most appropriate answer from the options given below :
(1) (A}, (B} and (C} only (2) (A), (B), (C) and (D) only
(3) (A}, (B} and (D) only (4) (A), (C) and (D) only

AT P (s i) % gEa 9ev B

(A)  Tg F T H B B

(B) <o M HaeR W TmeA|

(©)  IZ * 9RuHl = W HE AR T BT 2

(D) EOER ZFEH 48aT T B T

e fou v fopew O W T SUIE ST 0 S hitT)

(1)  =eet (A), (B) 3R (C)

-
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(Z) FTE (A), (B), (L) AT (D) Your Personal Exams Guide

(3) e (A), (B) 3 (D)

@ = (A). (C) 3R (D)
[Question ID = 2396][Question Description = Q50_DSS5_SHAAN_NOV21]
Te 5

[Option ID = 9047]
2. 2

[Option ID = 9048]
3.3

[Option 1D = 304%]
4, 4

[Option ID = 9050]

51) New development in security studies are
(A) Use of history

(B} Nuclear weapon theory

(C) Conventional warfare

(D) Role of domestic politics

(E) Issues of peace and cooperation

Choose the correct answer from the options given below ;

(1) (A), (B) and (C) only (2} (A}, (B), (C), (D) and (E) only
(3) (A), (B), (C) and (D) only (4) (A), (B), (C) and (E) only

T 7R ° T faw o 2 Y

@  sfiE w7

(B) Y FREAR fgrE
(©) i Ig

D) =t T e

(B)  =nfa =i wgar & g2

Hrt f2u e el A ¥ we SuET ST W WA AR
(1) == (4), B) 3R (C)

@  FaE A, (B). ©), D) 3k ()

3 @ (4), (B), (O) 3 (D)

(@)  F= (A), B), (O) 3 (B)
[Question ID = 2397][Question Description = Q51_DSS_SHAAN_NOV21]
1. 1

[Option ID = 3051]
2.2

[Option ID = 9052]
3.3

[Option ID = 3053]
4. 4

[Option ID = 9054]

52) The European Union is mainly concerned with
(A) Political integration of its member states
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(B) Gender Equality
(C) Environmental protection
(D) Economic integration of its member states

Choose the most appropriate answer from the options given below :
(1) {A) and (B) only (2) (A) and (D) only
(3) (C) and (D) only (4) (A) and (C) only

AT F9 JEAa; TEita 2

&)

®)

©

®)

3T TGS ST % ToTe R
IGUEECCIEDI]
TS TRET

ST TewT 290 1 oA wEET

Hit {30 U ferredt A © HEG SUIRE SN R =AA it

(1)

@

(3)

@

Had (A) IR (B)
FHael (A) 3R (D)
Fad (C) 3R (D)

Fael (A) AR (C)

[Question ID = 2398][Question Description = Q52_DSS5_SHAAN_NOV21]

1.

1

[Option ID = 3055]

ri

[Option ID = 9056]

e

[Option ID = 9057]

4

[Option ID = 9058]

53) Identify the natural disasters
(A) Hurricanes

(B) Landmine Blasts

(C) Landslides

(D) Tsunamis

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only (2) (B), (C) and (D) only
(3) (A), (C) and (D) only (4) (A), (B), (C) and (D} only
WTHfo STETeT il Te= Hire
(4)  wodl 9FE (Hurricanes)
(B) i g fawwe
D) g
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e fou Tu fepent o @ e SuEE SO w6 = i)
1) & Q). (B) 3 (O)
2 = (B). (C) 3K (D)
(3) ¥ (A). (C) ¥R (D)

4 Fad (A). B) (O) 3k (D)
[Question ID = 2399][Question Description = Q53_DSS5_SHAAN_NOV21]
|

[Option 1D = 305%)
2.2

[Option ID = 9060]
3.3

[Option ID = 3061]
4. 4

[Option ID = 9062]

54) The mandate of the National Disaster Management Authority is to take measures for
(A) Disaster Mitigationv

(B) Disaster Prevention

(C) Rehabilitation and Recovery

(D) Monetary Relief to the affected

(E) Maitain law and order during disaster

Choose the correct answer from the options given below ;
(1) (A), (B), (€) and (D) only (2) (A), (B) and (C) only
(3) (A) and (D) only (4) (B), (D) and (E) only

TEIT 3197 Wsee WIierep 1 Aty Fefafag & g st e 2

&) s =

B e Har

(©) T 3R T3

(D)  ifsat % fore o7 geieh wea

(E) 37931 % S i R =Taw S T

Hr4 fov 7o fomred § A Wl SO W =EA i)
(1) === (A (B). (C) 3 (D)

(2) F A), (B) A (O)

3 e (A) 3 (D)

@ ¥ (B). (D) &R (B)

[Question ID = 2400][Question Description = Q54_DSS_SHAAN_NOV21]
i

[Option ID = 9063]
7.2

[Option ID = 9064]
3. 3

[Option ID = 9065]
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| 4. 4

[Option ID = 9066]

55) National Disaster Response Force (NDRF) battalions are located on which of the following places.

(A) Guwahati (Assam)

(B) Bathinda (Punjab)

(C) Faridabad (Haryana)

(D) ltanagar (Arunachal Pradesh)
(E) Lucknow (Uttar Pradesh)

Choose the correct answer from the options given below ;
(1) (A), (B) and (D) only
(3) (A), (C) and (D) only

frafafn & @ HH-F9 O @ ) TgE g GE §9 (T 3 9R TF) SeiieER sEid 3 7

(A)
(B)
(€)
)

(E)

AT (1)
Afegt (Yare
wRigmEms (i)

TR (S5 eT)

TGS (ST 9E)

il feu o ferpeat A o E 3R W = ity

1
(2)
(3

(4)

Fa9 (4), (B) 3R (D)
et (C), (D) 31t (E)
el (A). (C) 3 (D)

#aat (B), (C) 3R (D)

(2) (C), (D) and (E) only
{4) (B), (C) and (D) only

[Question ID = 2401][Question Description = Q55_DSS_SHAAN_NOV21]

1.1

[Option 1D = 3067]

L

[Option ID = 9068]

3. 3

[Option 1D = 306%]

4. 4

[Option ID = 9070]

56) Which of the following statements best explains India’s refusal to sign the 1951 Refugee Convention?

(A) India’s borders are porous in nature
(B) There was lack of adequate support in the parliament
(C) Refugees add to demographic changes in the country
(D) Imposes economic pressure on the country

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(3) (A), (B) and (C) only

fFefefigg § 4 #H-=H1 9 w9 9%d g 1951 = Irome] AT W gt N U SR B i

TATH TIT Fd 5 7

(A)

T T Ty St i )

- - -~

(2) (A) and (C) only
(4) (A), (C) and (D) only

prepp
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(B) T9q | UHH THYS 1 3THE U1 Your Personal Exams Guide

(©  wonfdat & 2w 4 Jaifehe i § gig o I |
(D) <9 9 AMIF 2o IS

Hr= fou T el § W O SYIE ST T W i)
(1) == (A) 2R (B)
(2) =& (4) 3R (O)
(8 4 (A), (B) 3 (O)
4)  FF (A), (C) 3 (D)
[Question ID = 2402][Question Description = Q56_DSS5_SHAAN_NOV21]

1.1

[Option ID = 3071]
2. 2

[Option ID = 9072]
3.3

[Option ID = 3073]
4, 4

[Option ID = 9074]

57) After the end of second world war, Berlin was under the occupation of following allied powers
(A) Soviet Union

(B) UK

(C) USA

(D) Poland

(E) Belgium

Choose the correct answer from the options given below ;
(1) (&), (B) and (C) only (2) (A), (B) and (D) only
(3) (A), (C) and (E) only (4) (A}, (D} and (E) only

fada fava a1g F gamw = wg= sfo Frefafiaa § @ - iz gl = s § wi?

(4 =i 5
® A%

() 7quwT
(D) Tiws

(B) e

it fow e ferpeTt © © @ I S R = it
1) FEE @A), B) 7R ()
2 % (A), (B) it (D)
(3  F=9 (A). (C) 3R (B)
4 4 (4), (D) ¥ (B)

[Question ID = 2403][Question Description = Q57_DSS_SHAAN_NOV21]
| s
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[Option ID = 9075]
2. 2

[Option ID = 9076]
Fiid

[Option ID = 9077]
4, 4

[Option ID = 9078]

58) ASEAN political security community aims to

(A) ensure that countries in the region live at peace with one another
(B) rely on peaceful processes in settlement of Intra-regional differences
(C) regard their security as fundamentally linked to one another

(D) create conducive atmosphere to forge functional integration with other regions of the world

Choose the correct answer from the options given below ;
(1) (A), (B) and {C) only (2} (A), (B) and (D) only
(3) (A), (B), (C) and (D) only (4) (A), (C) and (D) only

P (ASEAN) Ui des Qeear agerT =1 @ 2

(4) =z g 5o 6 3@ &9 A 30 - F w1y miegs @ ¥ T
(B) 3aU-4cfm waust =i fiem @ wifage ot = e e

(C) ST F&U 1 4ol ©9 § TH gL H T91 53T T+

(D) fowa & w7 &=t o A weefid whemor & FEi &g e aEe AR B

4 o e ferem § o W91 SOK W1 994 Fifu)
(1) %= (A), (B) R (O)

2  Fa (A), B) iR D)

3 A (A). (B), (C) 3k (D)

@ =9 (A). (C) it (D)

[Question ID = 2404][Question Description = Q58_DSS5_SHAAN_NOV21]
Te 5

[Option ID = 3079]
2. 2

[Option ID = 9080]
3.3

[Option ID = 3081]
4, 4

[Option ID = 9082]

59) Which of the following are True of Central Asian Republics?
(A) They are land-locked states

(B) They are dependent only on China for trade

(C) They are resource rich nations

(D) All of them have territorial conflicts with each other

Choose the most appropriate answer from the options given below :
(1) (A) and (D} only (2) (B} and (C) only
(3} (A) and (C) only (4) (B) and (D) only

gt TREE Rl % ey ¥ et § @ wi-ee O wd 2y
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(A)

(B)

(©)

)

4 WIA-%g 2 2|
d =R % T Fae 9 W AR 2
& T TOT 2 B

7 it 1 oH-gm ¥ g a3

1 fau U fepedt W @ HOW SUTE IO A wET i

(1

2

(3)

(4)

[Question ID = 2405][Question Description = Q59_DSS_SHAAN_NOV21]

1.1

Fael (A) 3R (D)
wheel (B) 30t (C)
e (A) 3R (C)

eIt (B) 3R (D)

[Option ID = 9083]

2. 2

[Option ID = 3084)

i

[Option ID = 9085]

4. 4

[Option ID = 3086]

prepp

Your Personal Exams Guide

60) The New International Economic Order put forward by some developing countries in the 1970’s was aimed at
(A) Improving the terms of trade

(B) Reducing tariffs

(C) Increasing economic development assistance
(D) Creating New Regional Economic Organisations

Choose the correct answer from the options given below :
(2) (A) and (C) only
(4) (A) and (D) only

(1) (A) and (B) only
(3) (A), (B) and (C) only

9 1970 ¥ F3 {aeraeiicr S gry e =l T8 A5 SIRIgi AT SHaear 1 69T o

(A)

(B)

©)

(D)

SR fHEEE! 4 gun e
St =1 e
i foeme wewa ¥ gig 7

< fou U foepedt O W WY SUIT ST WA i)

@

(2)

(3)

(4

el (A) 3R (B)
Fae (A) IR (C)
T (A), (B) 3R (C)

et (A) 3R (D)
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[Question ID = 2406][Question Description = Q60_DSS_SHAAN_NOV21] Your Personal Exams Guide
1. 1

[Option ID = 9087]
2. 2

[Option ID = 3088)
S

[Option ID = 9089]
4. 4

[Option ID = 3090]

61) Enviromental Challenges faced by South Pacific Islands are
(A) Natural disasters

(B} Continued nuclear weapon testing

(C) Impact of climate change

(D) Sea level rise

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2} (A), (B) and (D) only
(3) (A), (B), (C) and (D) only (4) (A}, (C) and (D) only

Zfo-wuea S % gAe STarel gt Hedt gifee - ot 27

(A)  YEHfd® IMIEN

B) W =REE w R e

(C) @ Ui % I9E

(D) g 9 | 38

=t fau g ferpet 4 o @@t 3w 1 == Hifom)
1) a4 (&), B) A (©)

2 = (A). B) IR (D)

(3)  Had (A), (B). (C) 3k (D)

(4)  FaA (A), (C) 3R D)
[Question ID = 2407][Question Description = Q61_DSS_SHAAN_NOV21]
1. 1

[Option 1D = 9091]
2. 2

[Option ID = 9092]
3.3

[Option ID = 9093]
4. 4

[Option ID = 9094]

62) New START between US and Russia envisages

(A) reduction in the number of strategic nuclear missile launchers

(B) establishment of new inspection and verification regime

(C) establishment of protocol for onsite physical verification

(D) establishmebnt of mediation procedures to address incompatibilities

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A) and (B) only
(3) (A) and (C) only (4) (A), (B), (C) and (D) only
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A

(B)

(&)

D)

Amter A e dEgd H e 4 e wE|

T2 e 3T OoTT SEaten ST w5

o T IEETF T 5 o Tieriet TTa S

T T FHIGE T 5g ARl TERATE T T

fra fau u faseat 0 © wEt 3w 9uT Hie)

ey

@

3

4)

Fad (A), (B) 31 (C)
Fa (A) 3R (B)
Had (A) 3R (C)

Fad (A). (B), (C) ¥R (D)

[Question ID = 2408][Question Description = Q62_DS5_SHAAN_NOV21]

1. 1

[Option ID = 3095]

2.2

[Option ID = 9096]

ik

[Option ID = 9097]

4. 4

[Option ID = 9098]

63) Military Diplomacy includes

(A) Practice of appointing military attaches

(B) Practice of organising joint military exercises
(C) Practice of military educational exchanges
(D) Practice of coercive military postures

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only
(3) (A), (B), (C) and (D) only

G peAifa d Fefafaa 4 o wn-oa mive 37

(A)

(B)

©)

(D)

T Tt P 6 S aRTE
woE 81 seae AT s 6 ufad
H=1 W eE-veA =it

reEsRt &= 1gr 6 afrd

e fou 70 forpeal O W TET STIG IOE T WA i

(1)

(2)

Fas LY

#ad (A), (B) 3R (O

FF (A), (C) 2R (D)

:"._'__ S AN En g h% L -;-."9-.- Fa il

(2) (A), (C) and (D) only
(4) (B}, (C) and (D} only

prepp

Your Personal Exams Guide




WWW.prepp.in

prepp

Your Personal Exams Guide

\urF TN ALRS e LEAF AN CUT ALy
4 F (B), (C) 3R (D)

[Question ID = 2409][Question Description = Q63_DSS_SHAAN_NOV21]
1. 1

[Option 1D = 3099]
2. 2

[Option ID = 9100]
3.3

[Option ID = 9101]
4, 4

[Option ID = 9102]

64) With reference to 10th Ministerial Meeting of Mekong Ganga Cooperation (MGC). Consider the following statement,

(A) The MGC plan of action is focussed on building dams and opening university and colleges

(B) It was held in Bangkok, Thailand

(C) It was held in Sittwe, Myanmar

(D) The new MGC plan of action envisages project based cooperation in areas like science and technology skill development
and capacity building

Choose the most appropriate answer from the options given below :
(1) (A) and (C) only (2} (C) and (D) only
(3) (B) and (D) only (4) (A) and (B) only

TR T (MGC) # 10 = nfiadir dow % wed A, Fafeigs o w fomm =1
(a) S o wE e E s fm eIk farafierem aun wies @en W ST B 2
(B) =7 d=FiH, s A g oAl

() =z faed, =mw o 52 o

(D) 75 uA St @ wA g 7 REE iR aEniEh, wve e o e A S eE § i
STHTE 2= i 9iEweT T Hil 72 2)

it fau v forpet @ O e Sy IOt 1 =EE Fif)
(1) T (A) AR (©)
@  F= (O) ¥R (D)
(3 % (B) 3R (D)
4  FE (A) 3R (B)

[Question ID = 2410][Question Description = Q64_DSS5_SHAAN_NOV21]
1.1

[Option ID = $103]
2. 2

[Option ID = 9104]
3.3

[Option ID = $105]
4, 4

[Option ID = 9106]

65) The 26 round of negotiations for Regional Comprehensive Economic Partnership (RCEP) held recently. Consider the
following statements :

(A) It would cover every aspects of economic trade such as goods and services, economic and technical cooperation and IPR
(B} RCEP was signed on 19 November 2018

(C) India is not a member of China proposed ASEAN+3

(D) RCEP is not a free trade agreement
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Choose the correct answer from the options given below :

(1) {(A), (C) and (D) only (2) (A), (C) and (E) only

(3) (C), (D) and (E) only (4) (B), (€} and (E) only
T ° 53 &6 oA antdE uriierd (RCEP) % forw amaleti % 26 4 SR % @sa ¥ fFeafafas FuA w
o =

(A) zEd f¥H AN 1 USSP Yge oY U Sil TErg st i aerhl meam aun s
e |

(B) m S H w19 FamR 2018 % gEE 5 )

(C) wra, 99 3R Saas® ASEAN+S &1 930 7o 2|

(D) ¥ g f O A S R 6 2

(B) w3 d % fva o1 o=@ 951 S99n R 96 S 2

5 v T foredt © o wE1 SOR = 999 Fiferu)
(1) = (A), (O) 3R (D)
(2) = (4), (C) 3k (B)
(3 %= (C), (D) ¥ (B)
@ a9 (B), (C) i (B)

[Question ID = 2411][Question Description = Q65_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9107]
2. 2

[Option ID = $108)
£

[Option ID = 9109]
4, 4

[Option ID = 9110]

66) Match List | and List Il
List | List Il
Weapon System Country of Origin

(A) Star Streak High Velocity Missile 0 United Kingdom

(HVM)

(B) TOS-1A Solntsepak (Il) Russia
(C) Jericho Il (ICBM) () Israel
(D) CV 90120-T GHOST (V) Sweden

Choose the correct answer from the options given below ;
(1) (A)-(V), (B)-(IN), (C)-(1}, (D)-(1)
(2)  (A}-(), (B)-(I1}, (C}-(I¥), (D)-(111)
(3)  (A)-(), (B)-(l1}, (C}-(I1}, (D)-(IV)
(4)  (A}-(V), (B)-(lN), (C)-(11), (D)-(1)

T=-I % w1y g1 = frere ifse
A1 -1

ALY 1o e = e e = =R i e e
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R’

(B) @ A1 T - o U meeniE

(C) wiftert TIT (3n€ i =fi wa)

(D) R 90120 - 3t g
T 2w o Tt ¥ O gdt s W 9 ity
(D (A)-0V), (B)-(I1ID), (C)-M, (D)-(ID)
(2) (A)-D. (B)-(II). (C)-AV), (D)-A1D)
&  @A-O, B-A1D. (O)-D), (D)-AV)
(4) (A)-(IV), (B)-(ILD), (C)-(AD, (D)-(D)

Mt g wt g R R T -t

-y A Tt BRI

I ==

(IIL) S=Isd

[Question ID = 2412][Question Description = Q66_DSS_SHAAN_NOV21]

Tt

[Option ID = 9111]

2.2

[Option ID = 9112]

diid

[Option ID = 9113]

4, 4

[Option ID = 9114]

67) Match List | and List Il

List |

Force

(A)
(B)
(€)
(D)

ITBP
NSG
Assam Rifles

BSF

List Il
Year of Establishment
(I} 1965
(I 1835
(1y 1962
(IvV) 19846

Choose the correct answer from the options given below :
(A)-(1), (B)-(IV}, (C)-(lll}, (D)-(IN)
(A)-(IV), (B)-(IN), (C)-(I), (D)-(1)
(A)-(1¥), (B)-(I}, (C}-(1I), (D)-(INN)
(A)-(ll}, (B)-(V), (C)-(I), (D)-(1)

(1)
(2)
(3)
(4)

i1 % a9 -1 =1 e hif

(A)

(B)

(C)

()

= feu 7 fompeut 0 © wEt I = wEe Hifeu

@)
2)

gehi-I

et
5TE 21 5t
T T S
A ASHH

ff ©d TH

A)-O, B)-IV), (0)-a1D), (D)-(ID)
(&)-@V). (B)-(I1D), (C)-aD), D)-(D

&

T 67 o

1965

B

(II) 1835

III) 1962
Iv) 1986
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(3
(4)

(A)-aV). B)-(D. (O)-1D). (D)-AID
(A4)-I1D), (B)-AV), (O)-(D), (D)-()

[Question ID = 2413][Question Description = Q67_DSS5_SHAAN_NOV21]

1. 1

[Option ID = 9115]

Lk

[Option ID = 9116]

Fui 3

[Option ID = 3117]

4, 4

[Option ID = 9118]

68) Match List | and List Il

List |
(A} Defence Services Staff College
{B) College of Defence Management
{C) National Defence College

{D} Army War College

List Il
()  New Delhi
(I  Mhow
() Wellington
(I¥) Hyderabad

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(1}, (C)-(1I1}, (D)-(N)
(2)  (A)-(D), (B)-(lI}, (C)-(1N1}, (D)-(IV)
(3)  (A)-(lll}, (B)-(IV), (C)-(1}, (D)-(N)
(4)  (A)-(I), (B)-(IN), (C)-(1}, (D)-(IV)

=1 = o -1 = frem il

T=i-I

(A) fobe afbes = $iad

(B) wiad ATE febg faam=

(C) =ure &%y =ies

(D) 31l R Bidw
I fu T fameut A O OF IO 1 9 Fifm)
1)  (A)-aV). B)-D, (C)-dII), (D)-(ID)
2) (A)-(D. (B)-(ID). (O)-(I1D). (D)-IV)
3 (A)-(I1D). (B)-(IV), (C)-(1), (D)-(I)
@  (A-AD. (B)-ID), (C)-M). (D)-IV)

O ==

[Question ID = 2414][Question Description = Q68_DSS5_SHAAN_NOV21]

1.1

[Option ID = 9119]

Lk

[Option ID = 9120]

3. 3

[Option ID = 3121]

4, 4

[Option ID = 9122]

69) Match List | and List Il

prepp
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List |

Exercise

(A)
(B)
(€)
(D)

SLINEX-20
SAMPRITI-IX 20
PASSEX 20
JIMEX20

List Il

Countries
(1) India and Srilanka
(Il India and Bangladesh
(Il India and Australia

(I¥) India and Japan

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(Il), (C)-(1}, (D)-(IV)
(2)  (A)-(D), (B)-(lI}, (C)-(IV), (D)-(IN})
(3)  (A)-(), (B)-(lI}, (C)-(I}, (D)-(IV)
(4)  (A)-(IV), (B)-(lll), {(C)-(I1), (D)-(1)
Tefi-1 % w2 gI-11 =1 e Hife
-1
STEATE
(A) TEIE-20
(B) wifa-IX 2
(C) U&wE-20
(D) =g 20
I v o et 9 8 98 I W 99 S|
(1 (A)-0D. B)-ID, (C)-(D). (D)-AV)
2) A)-(I). (B)-1D). (O)-(IV), (D)-(11L)
3  A-D. B)-UAD, (O)-11), (D)-AV)
4  (A)-aV), B)-JID, (O)-aDn. M)~

[Question ID = 2415][Question Description = Q69_DSS_SHAAN_NOV21]

1.1

[Option ID = 9123]

2

[Option ID = 9124]

3. 3

[Option ID = 9125]

4. 4

[Option ID = 9126]

70) Match List | and List Il

(A)
(B)
(€)
(D)

List |
INS Hansa
INS Garuda
INS Shikra
INS Dega

List I
() Vishakhapatnam
(I} Mumbai
(lll} Cochin
(I¥) Goa

Choose the correct answer from the options given below :
(A)-(1), (B)-(1), (C)-(lI}, (B)-(IV)
(A)-(llly, (B)-(1), (C)-(IV}), (D)-(1)
(A}-(I), (B)-(IV), (C)-(I), (D)-(1)

(1)
(2)
(3)

prepp
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-4

(A)-(I¥), (B)-(IN), (C)-(11), (D)-(1)

A1 % Ty g=h-I = e il

A4

®B)

(©)

D)

Hra v o et © @ O o8 =1 959 Fifn)

(1)
(2)
(3
S

-1

3TT% UA UH §9
3T T T T
1% T

3% UA wE g

A)-@). B)-dD), (O-IID). D)-IV)
(A)-AII). (B)-AD. (O-IV). O)-@)
(A)-aAD. (B)-aV). (O)-(1D. D)-D
(A)-@v), (B)-dID, (O)-AD. D)-D

@O faemauTa
I g

@v) =am

[Question ID = 2416][Question Description = Q70_DSS5_SHAAN_NOV21]

1.1

[Option ID = $127]

L 2

[Option ID = 9128]

35

[Option ID = 9129])

4. 4

[Option ID = 9130]

71) Match List | with List 11 :

List |

(A)
(B)
(€)
(D)

QP Trident
OP Meghdoot
OP Pawan

OP Bander

List Il
()  Air Chief Marshall B.S. Dhanoa
(I) General K, Sundarji
()  Admiral S.M. Nanda
(Iv) General A.S. Vaidya

Choose the correct answer from the options given below ;

(1) (A)-(IV), (B)-(1I), (C)-(I1), (D)-(1)
(2)  (A)-(I), (B)=(INN), (C)-(IV), (D)-(1)
(3)  (A)-(lll}, (B)-(IV), (C)-(I1), (D)-(1)
(4)  (A)-(D), (B)~(Il}, (C)-(II1}, (D)-(IV)
-1 % a9 ge-I1 =1 e Hifg
T=-1
A) o 0 gES=
(B) o0t doem
(C) At v
(D) =0

T=-11

O s T ol @ e

(I) e . o

(D) usfine wg. w1 a1

(IV) 9% U. o o=
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Fra fou o fwem § @ oE I w1 999 Fif)

)
)
3
@

(&)-@Av), (B)-(1D), (O)-AD, (D)-@)
(4)-aD, (B)-(IID. (O)-IV), (D)-D
(4)-@1D), (B)-aV). (C)-aD. (D)-D
(A)-@, B®-1D), (O)-1ID, (D)-AV)

[Question ID = 2417][Question Description = Q71_DSS_SHAAN_NOV21]

1.1

[Option ID = 9131]

2. 2

[Option ID = 9132]

3 3

[Option ID = 9133]

4. 4

[Option ID = 3134)

72) Match List | and List Il

List |

Boundary Line

(A)
(B)
(€)
()

17th Parallel
Durand Line
38t Parallel
49th pParallel

List Il
Countries
(1) Pakistan and Afghanistan
(I} South Korea - North Morea
(lll}y South Vietnam - North Vietnam
(I¥) The USA and Canada

Choose the correct answer from the options given below :
(A)-(Illy, (B)-(1), (C)-(I1}, (D)-(IV)
(A)-(D), (B)-(ll), (C)-(IV}, (D)-()
(A)-(I¥), (B)-(1}, (C)-(I1), (D)-(I)
(A)-(1), (B)-(1}, (C)-(ll1}, (B)-(IV)

(1
(2)
(3)
(4)

Tt-1 7% g gefi-11 =1 foem i

(A)

(B)

©

(D)

i 2w U et 0 @ TEl IR W = hiag

(1)
(2)
3
(4)

g1 1
Himr -t

17 af aaHwR (Had)

3 i@

38 91 gHHET=H

49 =7 g9HFR

(A)-d1I). (B)-(D. (O)-(D). (D)-(IV})
(A)-I). (B)-(IID). (C)-AV). (D)-1I)
(A)-AV). (B)-(I). (C)-dI). (D)-(I1I)
(A)-ID). (B)-(I). (C)-(11L). D)-(IV)

gei-1I

)
(@ IR 3R SAEnHaH
A1)  <faw iftar-sod Hifen

(IID) <haoit femaamg—3adl feamaam

(IV) 9 TE T AR FS1

. [Question ID = 2418][Question Description = Q72_DSS_SHAAN_NOV21]
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|

[Option ID = 9135]

2. 2

[Option ID = 9136]

3

[Option ID = 9137]

4. 4

[Option ID = 9138]

73) Match List | and List Il :

List |

Concept

(A) Marksmanship

{B) Brinkmanship

(C) Purplemanship

{D} Helmsmanship

List Il
Meaning

{1 Pushing a dangerous situation or
confrontation to the limit of safety
especially to force as desired outcome

() Skill in shooting

() Signifies jointmanship in armed
forces

(IV) The action or skill of steering a
ship

Choose the correct answer from the options given below ;

(1) (A)-QI), (B)-(1}, (C)-(1I1}, (D)-(IV)
(2) (A}, (B)-(1I), (C)-(I1}, (D)-(IV)
(3) (A}, (B)-(1}, (C)-(11}, (D)-(1V)
(4)  (A)-(I1}, (B)-(IN), (C)-(1}, (D)-(IV)
=h-1 = s g=A-11 =1 faem Hifag .
i1
HHel
(A) wEEEARE"
(B) frrtfim
(C) TR
(D) == F

1 fou o el § © UE ST 99 |

D
@
(3
C))

(A)-(D, (B)-(@), (C)-(1D), (D)-AV)
(A)-(I). (B)-(I1I), (C)-(ID), (D)-(IV)
(A)-(D), (B)-(1D), (C)-(IID), (D)-IV)
(A)-(IID), (B)-(dD), (C)-(D), (D)-IV)

LAl
b

() =ifwa ufomm % 59 4 fErw &= a9 *
o1 e atven TaE 1 R =0 geen
Hi TS o e

(ID Fromars = s
(II]) HIE 5 H SASeETRM 1 T2cd Qi 2
(IV) Trelt et =1 5o 1 Be s1emn Foremn

[Question ID = 2419][Question Description = Q73_DS5_SHAAN_NOV21]

1.1

[Option ID = $139])

2. 2

[Option ID = 9140]

Rt

[Option ID = 9141]

4. 4

[Option ID = 9142]
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74) Match List | and List Il ;

List |

(A) Stockholm International Peace
Research Institute

{B) Copenhagen Peace Research
Institute

(C) International Institute for
Strategic Studies

{D} Regional Centre for Strategic
Studies

List 1l

(1 UK

() Sweden

(I} Srilanka

(I¥) Denmark

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A)-(llly, (B)-(1), (C)-(IV}, (D)-(1)
(A)-(I1), (B)-(1}, (C)-(lIN}, (D)-(IV)
(A)-(ll1}, (B)-(1V), (C)-(I1), (D)-(1)
(A)-(I), (B)-(I¥), (C)-(1), (D)-(IlN)

-1 % ary g=i-1I =1 fiem fif

g1

(A) wiwgin ez diw o e
(B) e T feeE e

(C) seHTFs SEiefe TR wifim w2
(D) foae det vt Bl wdm

=t fou U fomeal § O =gt ST = 98 it

(L
2)
(3
4)

(A4)-aID. (B)-@). (C)-IV), (O)-(ID
(A)-aD, (B)-@. (C)-{ID), (D)-AV)
(4)-(1). (B)-(IV), (C)-AD, (D)-(I)
(A)-ID. (B)-(IV). (C)-(D), (D)-(IL)

[n)

O %+
D) s
(IIT) A=t

aV) S

[Question ID = 2420][Question Description = Q74_DSS5_SHAAN_NOV21]

1. 1

[Option ID = 9143]

Lk

[Option ID = 9144]

Fui 3

[Option ID = 3145]

4, 4

[Option ID = 9146]

75) Match List | and List Il ;

List |

IAF Helicopter
{(A) Chinook
(B) Apache
(Cy M35
(D) Chetak

List Il

Purpose
(1}  Attack
() Search and Rescue
(Il Transport

(1) Assalt and Anti Armour

Choose the correct answer from the options given below :

prepp
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(1)
(2)
(3)
(4)

(A)-(I¥), (B)-(IN), (C)-(I}, (D)-(N)
(A)-(I1), (B)-(IV), (C)-(ll1), (D)-(1)
(A)-(1), (B)-(IV}, (C)-(11), (D)-(INI)
(A)-(ll1}, (B)-(1), (C)-(IV}, (D)-(NI)

TEA-1 % w9 g1 1 fiem i

(&)
(B)

(©
(D)

o T el 3§ U9 IO 1 999 S|

1)
@
3
€

1
AT T T BT

(A)-IV). (B)-ID), (C)-1), (D)-dL)
(A)-(ID. (B)-(IV), (O)-(D), (D)D)
(A)-D. B)-AV). (C)-AD), (D)-(II)
(A)-(IID. (B)-(D, (C)-AV), (D)-(AD

s
=T
@ T
dD) @ wE s
(D) iz

(IV) HeT o TEI-310 (Fherei-TiEt)

[Question ID = 2421][Question Description = Q75_DSS5_SHAAN_NOV21]

T

[Option ID = 9147]

Luk

[Option ID = 9148]

(I

[Option ID = $14%]

4, 4

[Option ID = 9150]

76) Arrange the following events in correct chronological descending order :
(A) Cuban Missile Crisis

(B) INF
(C) U-2
(D) Fall

Treaty
Incident
of Berlin Wall

Choose the correct answer from the options given below :
(1) (D), (B), (A), (C)
(3) (C), (B), (A), (D)

(2) (D), (A), (B), (C)
(4) (€), (A), (B), (D)

Frafafiga wematl % o) FREETEER ERE w9 ° o

(&)

B)

(©)

(D)

3T TR U Wi
-2 g

Ao i AR = e
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1 @O B). W.©)
2 @O W.®.©)
@ (O.(B)A). D)
@ Q. A, 3B). D)

[Question ID = 2422][Question Description = Q76_DSS_SHAAN_NOV21]
1.1

[Option ID = 9151]
7.2

[Option ID = 9152]
a3

[Option ID = 9153]
4, 4

[Option ID = 9154]

77) Arrange the following countries in ascending order in terms of their military spending in US as reported in Military
Balance 2020 Published by IS5

(A) UK

(B} China

(C) USA

(D) Saudi Arabia

(E) Russia

Choose the correct answer from the options given below :
(1) (D}, (A), (E), (B), (C) (2) (D), (E), (A), (B), (C)
(3) (A), (E), (D), (B), (C) (4) (E), (B), (D), (A), (C)

TS TS UH UH g W el derm 2020 i F wgEn Frafaiaa 3o W o SR § 3T 8

T % AR TRE FH A T
@ 1%

® =

) JwWx

D) T4 I

(E) B33

Ji= f2u 0 fomredl 2§ o) 39¢ @ 994 $ife

L @O.A).E), ®B).©)
@ D). E). @A) B).(©)
3 @A), E), D, ®B), )
@ (B B). D). @A), O
[Question ID = 2423][Question Description = Q77_DSS_SHAAN_NOV21]

1.1

[Option ID = 9155]
2, 2

[Option ID = 9156]
3.3

[Option ID = 3157]
4, 4

[Option ID = 9158]
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78) Arrange the following concepts in ascending chronological order :
(A) Total war

(B) Sea power

(C) Air power

(D} Mechanized warfare

Choose the correct answer from the options given below :
(1) (), (B), (B), (M) (2) (€), (B), (D), (A)
(3) (A), (D}, (B), (C) (4) (A), (B), (D), (C)

Freferfiga smamons = FeEATER SRR B 5 TR

A

(B)

(©)

(D)

T 1
I I3
ad I8

2

TS I8

T oo o faweTt 0 © o8 ST F 99 H

(1)
(2)
(3)
€

(C), (D), (B). (A)
(G, (B). D)., &)
(). (D), (B). (C)
(A). (B), (D). (O)

[Question ID = 2424][Question Description = Q78_DSS_SHAAN_NOV21]

P |

[Option ID = 9159]

i

[Option ID = 9160]

(e

[Option ID = 9161]

4, 4

[Option ID = 9162]

79) Identify the following landmark events in India-ASEAN partnership in chronological ascending order

(A) Full dialogue partneship

(B) India-ASEAN FTA

(C) Sectoral dialogue partnership

(D) Creation of exclusive mission to ASEAN

Choose the correct answer from the options given below :
(1) (C), (A), (B), (D) (2) (A), (B), (C), (D)
(3) (D), (B), (A), (O) (4) (B}, (C), (A), (D)

AT - S Ariigd! 7 Frefafas ascaunt gerer =i Femmgan SAE w6 | @
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(4) (B). (O). Q). D)
[Question ID = 2425][Question Description = Q79_DSS_SHAAN_NOV21]
1.1

[Option ID = 9163]
2. 2

[Option ID = 3164]
3.3

[Option ID = 9165]
4. 4

[Option ID = 9166]

80) Arrange in chronological descending order, the Entry into Force of following treaties
(A) Ottawa treaty

(B) Convention on cluster munitions

(C) Chemical Weapons Convention

(D) Arms Trade Treaty

Choose the correct answer from the options given below ;
(1) (D), (B), (A), (C) (2) (B}, (C), (A), (D)
(3) (A), (B), (C}, (D) (4) (D), (C), (B}, (A)

i wierl 1 ST S 21 % HremaTER Sl B § e
(&)  fieEn wiy

B) mFg-awft FhE gadt sithee

(©  vuElE RER wet sl

(D) % AR 94

1wl fou U fomredt 1 U O IO 1 == iy

1 D). ®B. A). )
@  B).0). &), D)
(3) (@& (B). ©). D)

(4) (D). (C), B), (&)
[Question ID = 2426][Question Description = Q80_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9167]
3.7

[Option ID = 9168])
3.3

[Option ID = 9169]
4, 4

[Option ID = 3170]

g81) Arrange the following organisations in the chronological ascending order in terms of the year of establishment
(A) WTO - World Trade Organisation
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(C) UNCTAD - United Nations Conference on Trades an Development
(D) OECD - Organisation for Economic Co-operation and Development

Choose the correct answer from the options given below ;
(1) (D}, (C), (A), (B) (2) (D), (B), (A), (C)
(3) (B), (C), (D), (A) (4) (B}, (A), (C), (D)

fretarfam @ i ST T % 99 % SR SR B 5 e

A T - Tova = @A

B) vomgemd - o s A

(C) THers - IR 3R T aed 99 Tg aen
(D)  srEEhd - i wgam SR foeee @

fi= fau o fmedt A @ 9 S w0 =99 Fifsw

1y D). ©C).A.B)
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3 B. Q) D), W
4 B, A, ©). D
[Question ID = 2427][Question Description = Q81_DSS_SHAAN_NOV21]

1.1

[Option ID = 9171]
3.2

[Option ID = 9172]
a3

[Option ID = 9173]
4, 4

[Option ID = $174]

82) Place in descending order the following top exporters of small arms :
(A) ltaly

(B} Germany

(C) United States of America

(D) Brazil

Choose the correct answer from the options given below ;
(1) (A), (C), (B}, (D) (2) (D), (C), (A), (B)
(3) (B}, (D), (&), (C) (4) (C), (A), (D), (B)

B T % Fretataa i Fetas =1 saE) 78 9 @ -

A  seefl
(B) S
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[Question ID = 2428][Question Description = Q82_DSS5_SHAAN_NOV21]

1.1

[Option 1D = 9175]

iR

[Option ID = 9176]

ai

[Option ID = 3177]

4, 4

[Option ID = 9178]

83) Arrange the following regional grouping in terms of country representation in descending order
(A) ASEAN Regional Forum

(B) India Ocean Rim Association

(C) Asia Pacific Economic Cooperation

(D) Bay of Bengal Initiative for Multi-sectoral, Technical and Economic Cooperation

Choose the correct answer from the options given below :
(1) (A), (C), (B}, (D) (2) (A), (B}, (C), (D)
(3) (B), (C), (A}, (D) (4) (C), (B), (A), (D)

Feferiga Sfir aqgt =t 99 <ot & sfafifeg % sger send w9 8 o
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B)

(€)
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anftEm e B
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[Question ID = 2429][Question Description = Q83_DSS_SHAAN_NOV21]

Tt

[Option ID = 9179]

2.2

[Option ID = 9180]

diid

[Option ID = 9181]

4, 4

[Option ID = 9182]
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84) Please find below a list of chairman, chiefs of staff committee organise the same in descending chronoloigcal order
based on their tenure
(A) Air chief Marshal Arup Raha
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| (B) General Bikram Singh

(C) Air Chief Marshall BS Dhanoa
(D) Admiral Sunil Lanba
(E) Air Chief Marshal Nak Brown

Choose the correct answer from the options given below :
(1) (C), (D), (E), (B), (A) (2) (B), (D), (C), (A), (E)
(3) (), (D), (A), (B), (E) (4) (D), (C), (B), (A), (E)

=t <t 18 <, =i STiE v il <l gl B Sk e % HIER T SEE] H d g Y

(A) a9 TEAE ST TR
B) R fow g

(C) a9 gare=a «ff um gAte
(D) e g o
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2 (B D). ). A).(E)
(3) (O, D), A), (B), (E)
@  D.©C)hB). . (E)

[Question ID = 2430][Question Description = Q84 _DSS_SHAAN_NOV21]
1. 1

[Option ID = 9183]
2. 2

[Option ID = 9184)
S

[Option ID = 9185]
4. 4

[Option ID = 3186])

85) Organise the following in ascending chronological order in terms of their decommissioning
(A) INS Godavari

(B) INS Nilgiri

(C) INS Udayagiri

(D) INS Dunagiri

Choose the correct answer from the options given below :
(1) (A), (B), {C}, (D) (2) (B}, (C), (D), (A)
(3) (A), (C), (D), (B) (4) (B}, (D), (C), (A)

fraftias =1 s7eh dar Taft % ser Feswmaar e 9 F s
(A) T T U@ MEEd
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[Question ID = 2431][Question Description = Q85_DSS_SHAAN_NOV21]

ti:

[Option ID = 9187]

2. 2

[Option ID = 9188]

3. 3

[Option ID = 9189]

4. 4

[Option ID = 9190]

86) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

prepp

Your Personal Exams Guide

Assertion (A) : The concept of ‘security’ can be interpreted as security of territorry from external agression, or as

protection of national interests in foreign policy or as global security from the threat of nuclear holocaust

Reasons (R) : Issues related to Human Security and environment security have broadened the agenda of security

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R} are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A}

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

=1 <1 For i e ¥ ww afieem (A) % w0 o faflaa 2 gou o FR (R) F w9 H

FREIA (A) “grer i GebeqAT =l ST Avgl AHRAY & & W g, W fagw Hife @ wdiw Rt =

T F TY AT W] FE F WAl ¥ v Guen % ¥4 H Hi A TR 2

FIT (R) : AT GEEAT TR AT QAN W Welter qE A [ReA =i HEgEt S o4 A 2

YRR H W TS °, TR 3w T Geeeni § 9 @9 s W = iR

(1)

(2)

(3)

C))

(A) ¥R (R) 21 97 £ @R (R), (A) F w8t =men 2
(A) 3R (R) 2T 3 € 3 R), (A) 1 TEl =amen 74 &
(A) 7 2, 9FFT (R) 31979 2

(A) w5 R, dFF R) a3 2

[Question ID = 2432][Question Description = Q86_DSS_SHAAN_NOV21]

1. 1

[Option ID = 9191]

Lol

[Option ID = 9192]

R

[Option ID = 9193]

4, 4

[Option ID = 9194]

87) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
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Assertion (A) : A nation is secure to the extent to which it is not in danger of having to sacrifice its core values, if it wishes

to avoid war, and is able; if challenged to maintain them by victory in such a war.

Reasons (R) : Security rises and falls with the ability of a nation to deter an attack or to defend it.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both {A) and (R} are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R} is true

=l 21 e Tou e € ¢ u AR (A) F Y A fofga & a1 gow 3w o (R) FET A
Ao AT F STHER
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[Question ID = 2433][Question Description = Q87_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9195]
2. 2

[Opticn ID = 9196]
ik

[Option ID = 9197]
4, 4

[Opticn ID = 9198]

88) Given below are two statements :
Statement (I) : Nuclear deterrence is a part of strategic deterrence
Statement (ll) : Strategic deerrence does include WMDs

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and 5tatement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

w2 (I) : gy e, wEftfas e =+ o
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[Question ID = 2434][Question Description = Q88_DSS5_SHAAN_NOV21]
j sy

[Option ID = 9199]
2. 2

[Option ID = 9200]
35

[Option ID = 3201]
4, 4

[Option ID = 9202]

89) Given below are two statements :
Statement (l) : Healthy Port Infrastructure is inevitable for robust blue economy
Statement (ll) : Ports alone contribute to blue economy

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and 5tatement Il are incorrect

(3) Statement | is correct but Statement 1l is incorrect

(4) Statement | is incorrect but Statement Il is correct

et 2 Fom feg M R
F (1) : Ted WHg-SEia eI % e ggg oo sEEeE shE 2
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[Question ID = 2435][Question Description = Q89_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9203]
2.2

[Option ID = 9204]
3.3

[Option ID = 9205]
| 4. 4
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[Option ID = 9206]

90) Given below are two statements ;
Statement (I} : OBOR and BRI are two different mechanisms
Statement (Il) : BRI is the latest version of OBOR

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

4 gt FuA g 2
FoH () : o1 &t a1t 9T (OBOR) iR &t a1 31 (BRI) @ faa-fim @ &1
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[Question ID = 2436][Question Description = Q90_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9207]
5

[Option ID = 9208]
3.3

[Option ID = 9209]
4. 4

[Option ID = 9210]

Topic:- 11DSS_B

1) Read the passage given below and answer the question which follow ;

The post-cold war world has experienced many changes, not only in practical terms but also in theoretical sphere. One of
the significant paradigm shift that took place was in the traditional The post-cold war world has experienced many changes, not
only in practical terms but also in theoretical sphere. One of the significant paradigm shifts that took place was in the traditional
meaning of security. The traditional meaning of security is state centric, it means that the territory of the state needs to be protected
against any hostile attack. It can also be seen as protection from external threats. On the other hand, non-traditional security is human
centric. It means that the people of a state should be protected from hunger, disease, poverty and natural disasters. In 1994, UNDP
HDR presented a report according to which seven things were added to the concept of security; these are personal, envirohmental,
economic, political, community health and food security. The state should protect its people from these internal threats. The theories of
International relations define security differently. As Realist perceives the nature of human as selfish and egoistic which will incline
maore towards immorality. They argue that as the nature of human is selfish, same is the case with the states, They also act selfishly
by looking in to just their own national interests and have nothing to do with other's interest, If war is in their national interest they
will go for war, and if co-operation is in their interest, they will cooperate with the other state. Neorealism, the branch of realism
claims that there is no change in the world after the end of cold war, power is still the main entity in international relations and this
power structure is due to the anarchical structure of international system. The Realists and neorealists are not willing to come out of
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According to passage, the post cold war world has seen many changes, both in practical and theoratical spheres but one of
the most important paradigm shifts that took place was
(1) that basic human nature is selfish

(2) the significant paradigm shift in the traditional meaning of security
(3) the state should protect people from hunger and poverty

(4) that there is no change in the world after the end of cold war

TS % AR TMia dg v o fava § oremies ot dgifas At &t 7 3F deong 7Y vieg T o
T TECAYY Ageng g 98 9 o Y

(1) T ama = g9 =uE =i 2

(2) T % TOEEE 3 | g3 qe AEcayvl et
(3)  ZW F y@ R el W T 1 TR BT TG
(@) T ofia gg % e fowa 4 =S seens TE 5o 2

[Question ID = 2437][Question Description = Q91_DSS5_SHAAN_NOV21]
j sy

[Option ID = 9211]
2. 2

[Option ID = 9212]
3.3

[Option ID = 9213]
4, 4

[Option ID = 9214]

2) Read the passage given below and answer the question which follow :

The post-cold war world has experienced many changes, not only in practical terms but also in theoretical sphere. One of the
significant paradigm shifts that took place was in the traditional meaning of security. The traditional meaning of security is state
centric, it means that the territory of the state needs to be protected against any hostile attack. It can also be seen as protection from
external threats. On the other hand, non-traditional security is human centric. It means that the people of a state should be protected
from hunger, disease, poverty and natural disasters. In 1994, UNDP HDR presented a report according to which seven things were
added to the concept of security; these are personal, environmental, economic, political, community health and food security. The state
should protect its people from these internal threats. The theories of International relations define security differently. As Realist
perceives the nature of human as selfish and egoistic which will incline more towards immorality. They argue that as the nature of
human is selfish, same is the case with the states, They also act selfishly by looking in to just their own national interests and have
nothing to do with other's interest, If war is in their national interest they will go for war, and if co-operation is in their interest, they
will cooperate with the other state. Neorealism, the branch of realism claims that there is no change in the world after the end of cold
war, power is still the main entity in international relations and this power structure is due to the anarchical structure of international
system. The Realists and neorealists are not willing to come out of the traditional concept of state centric security.
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According to paragraph, the non-traditional security is
(1) State centric (2) Food and Hunger centric

(3) Environment centric (4) Human centric
TR % STTEN TR-TRIT qET 3
VI -C @ @ 3R yu Hiza
(3) WY wigd (@) wFE wiET

[Question ID = 2438][Question Description = Q92_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9215]
2. 2

[Option ID = 9216]
3 3

[Option ID = 9217]
4. 4

[Option ID = 9218)

3) Read the passage given below and answer the question which follow :

The post-cold war world has experienced many changes, not only in practical terms but also in theoretical sphere. One of the
significant paradigm shifts that took place was in the traditional meaning of security. The traditional meaning of security is state
centric, it means that the territory of the state needs to be protected against any hostile attack. It can also be seen as protection from
external threats. On the other hand, non-traditional security is human centric. It means that the people of a state should be protected
from hunger, disease, poverty and natural disasters. In 1994, UNDP HDR presented a report according to which seven things were
added to the concept of security; these are personal, environmental, economic, political, community health and food security. The state
should protect its people from these internal threats. The theories of International relations define security differently. As Realist
perceives the nature of human as selfish and egoistic which will incline more towards immorality. They argue that as the nature of
human is selfish, same is the case with the states, They also act selfishly by looking in to just their own national interests and have
nothing to do with other's interest, If war is in their national interest they will go for war, and if co-operation is in their interest, they
will cooperate with the other state. Neorealism, the branch of realism claims that there is no change in the world after the end of cold
whar, power is still the main entity in international relations and this power structure is due to the anarchical structure of international
system. The Realists and neorealists are not willing to come out of the traditional concept of state centric security.
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According to passage, the branch of realism claims that there is no change in the world after the end of cold war is also
associated with

(1) Neo realism (2) Neo liberalism

(3) Neo colonialism (4) Neo imperialism
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[Question ID = 2439][Question Description = Q93_DSS_SHAAN_NOV21]
1. 1

[Option ID = 9219]
.00

[Option ID = 9220]
3.3

[Option ID = 9221]
4. 4

[Option ID = 9222]

4) Read the passage given below and answer the question which follow :

The post-cold war world has experienced many changes, not only in practical terms but also in theoretical sphere. One of the
significant paradigm shifts that took place was in the traditional meaning of security. The traditional meaning of security is state
centric, it means that the territory of the state needs to be protected against any hostile attack. It can also be seen as protection from
exterpal threats. On the other hand, non-traditional security is human centric. It means that the people of a state should be protected
from hunger, disease, poverty and natural disasters. In 1994, UNDP HDR presented a report according to which seven things were
added to the concept of security; these are personal, environmental, economic, political, community health and food security. The state
should protect its people from these internal threats. The theories of International relations define security differently. As Realist
perceives the nature of human as selfish and egoistic which will incline more towards immorality. They argue that as the nature of
human is selfish, same is the case with the states, They also act selfishly by looking in to just their own national interests and have
nothing to do with other's interest. If war is in their national interest they will go for war, and if co-operation is in their interest, they
will cooperate with the other state. Neorealism, the branch of realism claims that there is no change in the world after the end of cold
war, power is still the main entity in international relations and this power structure is due to the anarchical structure of international
system. The Realists and neorealists are not willing to come out of the traditional concept of state centric security.
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In 1994, the UNDP HDR in its report added new things to the concept of security. Those changes as per paragraph are
(1) Economic, Political and military (2) Food Production, Community Health and Forestry

(3) Personal, Political and Community Health {4) National, Environmental and Economic
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[Question ID = 2440][Question Description = Q94_DSS5_SHAAN_NOV21]
j it

[Option ID = 9223]
¥ 2

[Option ID = 9224]
3.3

[Option ID = 9225]
4, 4

[Option ID = 9226]

5) Read the passage given below and answer the question which follow ;

The post-cold war world has experienced many changes, not only in practical terms but also in theoretical sphere. One of
the significant paradigm shifts that took place was in the traditional meaning of security. The traditional meaning of security
is state centric, it means that the territory of the state needs to be protected against any hostile attack. It can also be seen
as protection from external threats. On the other hand, non-traditional security is human centric, It means that the people
of a state should be protected from hunger, disease, poverty and natural disasters. In 1994, UNDP HDR presented a report
according to which seven things were added to the concept of security; these are personal, environmental, economic,
political, community health and food security, The state should protect its people from these internal threats, The theories
of International relations define security differently. As Realist perceives the nature of human as selfish and egoistic which
will incline more towards immorality. They argue that as the nature of human is selfish, same is the case with the states,
They also act selfishly by looking in to just their own national interests and have nothing to do with other’s interest, If war is
in their national interest they will go for war, and if co-operation is in their interest, they will cooperate with the other
state. Neorealism, the branch of realism claims that there is no change in the world after the end of cold war, power is still
the main entity in international relations and this power structure is due to the anarchical structure of international system.
The Realists and neorealists are not willing to come out of the traditional concept of state centric security.
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According to passage, protecting people from hunger, poverty, disease and natural distasters is associated with
(1) Traditional security (2) Non-traditional security

(3) Internal security (4) State security
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[Question ID = 2441][Question Description = Q95_DSS_SHAAN_NOV21]
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[Option ID = 9228])
3.3

[Option ID = 9229]
4. 4

[Option ID = 9230]

Topic:- 11D55_C

1) Read the passage given below and answer the question which follow :

Arms production in India goes back two centuries, with the earliest recorded activity in 1801 when the East India Company
established the Gun Carriage Agency near Calcutta. However, since that time, and until Independence, colenial Britain did
little to encourage the growth of the defence industry. The reason was simple : military equipment and ordnance could be
sourced quickly and cheaply from British industry via established maritime supply routes. Thus, while the erigins of Indian
arms production go back to the early nineteenth century, only six ordnance factories had been established by the British at
the start of World War Il. After Independence, Nehru invited the eminent British theoretical physicist Patrick Blackett to
advise the government on a strategy to develop defence science in India so that it could eventually become self-reliant in
defence production. Blackett advised the Indian government to equip itself with industrial and financial capabilities, Given
the low-level of industrialization in India, he recommended that India should focus on building non-competitive systems such
as anti-aircraft guns and transport vehicles that put limited importance on the quality of the weapons system, Blackett
further recommended that India should lay the foundation for an effective aircraft industry by designing and developing a
trainer aircraft. These early moves towards technological independence showed that India was interested in building a
defence-industrial base that was both comprehensive and advanced, Since defence of newly independent India was a top
national priority, defence industrialization became the "exclusive responsibility of the state".
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According to paragraph, 'The East India Company’ established defence production setup in 1801 named
(1) East India Defence Agency (2) Gun Powder Carriage Agency
(3) East India’s Gun Production Agency (4) Gun Carriage Agency
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[Question ID = 2442][Question Description = Q96_DSS_SHAAN_NOVY21]
1. 1 [Option ID = 9231]
2. 2 [Option ID = 9232]
3. 3 [Option ID = 9233]
4. 4 [Option ID = 9234]

2) Read the passage given below and answer the question which follow :

Arms production in India goes back two centuries, with the earliest recorded activity in 1801 when the East India Company
established the Gun Carriage Agency near Calcutta. However, since that time, and until Independence, colenial Britain did
little to encourage the growth of the defence industry. The reason was simple : military equipment and ordnance could be
sourced quickly and cheaply from British industry via established maritime supply routes. Thus, while the origins of Indian
arms production go back to the early nineteenth century, only six ordnance factories had been established by the British at
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advise the government on a strategy to develop defence science in India so that it could eventually become self-reliant in

defence production. Blackett advised the Indian government to equip itself with industrial and financial capabilities. Given

the low-level of industrialization in India, he recommended that India should focus on building non-competitive systems such

as anti-aircraft guns and transport vehicles that put limited importance on the quality of the weapons system, Blackett

further recommended that India should lay the foundation for an effective aircraft industry by designing and developing a

trainer aircraft. These early moves towards technological independence showed that India was interested in building a

defence-industrial base that was both comprehensive and advanced. Since defence of newly independent India was a top

national priority, defence industrialization became the "exclusive responsibility of the state”.
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Colonial Britain did little to encourage the growth of defence industry. As per paragraph, the main reason was

(1) Mmilitary equipment could be sourced via establishment maritime supply routes (2) Defence equipment was easily
available in India

(3) Colonial Britain was not interested in sharing defence technologies (4) British wanted to leave india as soon as possible
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[Question ID = 244 3][Question Description = Q97_DSS5_SHAAN_NOV21]
1. 1 [Optien ID = 9235]
2. 2 [Option ID = 9236]
3. 3 [Optien ID = 9237]
4. 4 [Option ID = 9238]

3) Read the passage given below and answer the question which follow :

Arms production in India goes back two centuries, with the earliest recorded activity in 1801 when the East India Company
established the Gun Carriage Agency near Calcutta. However, since that time, and until Independence, colonial Britain did
little to encourage the growth of the defence industry. The reason was simple : military equipment and ordnance could be
sourced quickly and cheaply from British industry via established maritime supply routes. Thus, while the origins of Indian
arms production go back to the early nineteenth century, only six ordnance factories had been established by the British at
the start of World War Il. After Independence, Nehru invited the eminent British theoretical physicist Patrick Blackett to
advise the government on a strategy to develop defence science in India so that it could eventually become self-reliant in
defence production. Blackett advised the Indian government to equip itself with industrial and financial capabilities. Given
the low-level of industrialization in India, he recommended that India should focus on building non-competitive systems such
as anti-aircraft guns and transport vehicles that put limited importance on the quality of the weapons system. Blackett
further recommended that India should lay the foundation for an effective aircraft industry by designing and developing a
trainer aircraft. These early moves towards technological independence showed that India was interested in building a
defence-industrial base that was both comprehensive and advanced. Since defence of newly independent India was a top
national priority, defence industrialization became the "exclusive responsibility of the state”.
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As per paragraph, Blackett suggested that Indian Govt. should equip itself with industrial and financial capabilities because
of

(1) Poverty in India (2) India was not in a position to invest heavily in defence sector

(3) Low level of industralisation in India (4) Low level of science education in India
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[Question ID = 2444][Question Description = Q98_DSS_SHAAN_NOV21]
1. 1 [Option ID = 9239]
2. 2 [Option ID = 9240]
3. 3 [Option ID = 9241]
4, 4 [Option ID = 9242]

4) Read the passage given below and answer the guestion which follow :

Arms production in India goes back two centuries, with the earliest recorded activity in 1801 when the East India Company
established the Gun Carriage Agency near Calcutta. However, since that time, and until Independence, colenial Britain did
little to encourage the growth of the defence industry. The reason was simple ; military equipment and ordnance could be
sourced quickly and cheaply from British industry via established maritime supply routes. Thus, while the origins of Indian
arms production go back to the early nineteenth century, only six ordnance factories had been established by the British at
the start of World War I, After Independence, Nehru invited the eminent British theoretical physicist Patrick Blackett to
advise the government on a strategy to develop defence science in India so that it could eventually become self-reliant in
defence production. Blackett advised the Indian government to equip itself with industrial and financial capabilities, Given
the low-level of industrialization in India, he recommended that India should focus on building non-competitive systems such
as anti-aircraft guns and transport vehicles that put limited importance on the quality of the weapons system, Blackett
further recommended that India should lay the foundation for an effective aircraft industry by designing and developing a
trainer aircraft. These early moves towards technological independence showed that India was interested in building a
defence-industrial base that was both comprehensive and advanced. Since defence of newly independent India was a top
national priority, defence industrialization became the "exclusive responsibility of the state".
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Post independence, Indian strategy to develop defence science facilities in India, Nehru invited
(1) US scientist Robert Blackett (2) Swedish theoratical scientist John Robert
(3) British theoratical physicist Patrick Blackett (4} British theoratical scientist John Patrick
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[Question ID = 2445][Question Description = Q99_DSS5_SHAAN_NOV21]

1.
2.
3.
4.

1 [Option ID = 9243]
2 [Option ID = 9244]
3 [Option ID = 9245]
4 [Option ID = 9246]

5) Read the passage given below and answer the question which follow ;
Arms production in India goes back two centuries, with the earliest recorded activity in 1801 when the East India Company
established the Gun Carriage Agency near Calcutta. However, since that time, and until Independence, colonial Britain did
little to encourage the growth of the defence industry. The reason was simple : military equipment and ordnance could be
sourced quickly and cheaply from British industry via established maritime supply routes. Thus, while the origins of Indian
arms production go back to the early nineteenth century, only six ordnance factories had been established by the British at
the start of World War |l. After Independence, Nehru invited the eminent British theoretical physicist Patrick Blackett to
advise the government on a strategy to develop defence science in India so that it could eventually become self-reliant in
defence production. Blackett advised the Indian government to equip itself with industrial and financial capabilities. Given
the low-level of industrialization in India, he recommended that India should focus on building non-competitive systems such
as anti-aircraft guns and transport vehicles that put limited importance on the quality of the weapons system, Blackett
further recommended that India should lay the foundation for an effective aircraft industry by designing and developing a
trainer aircraft. These early moves towards technological independence showed that India was interested in building a
defence-industrial base that was both comprehensive and advanced. Since defence of newly independent India was a top
national priority, defence industrialization became the "exclusive responsibility of the state”.
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To develop defence-industrial base in India, Patrick Blackett recommended to lay foundation of
(1) An eminent academic institute for defence science (2) An effective aircraft industry
(3) An effective defence-industrial base (4) Light combat aircraft production unit

WIRA T - AR B T % fo1g, Uiem sorhe A Preteiad =1 fia @ = e #i

(1) e fagm % fog o wfifla el s (2) O FE-F9E 9 39
(8) U PP E-IAEifTE ATER (@) Tk g faam IeET T

[Question ID = 2446][Question Description = Q100_DSS_SHAAN_NOV21]
. 1 [Opticn ID = 9247]
. 2 [Option ID = 9248]
. 3 [Option ID = 9249]
4 [Option 1D = 9250]

oLk B2

Topic:- GP_Set2_C
1) Read the passage carefully and answer the guestion that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’, India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia,

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :

(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only

wra it wreHfow FeAlla e 2, Faw
CVRRNLIEL

(B) wgEala-3TeFY

(C) =AME-TFeT

(D) JafFw T

=t fau ¢ fompeal § @ wEt ST =Rl a9 Hify ;

(1)  =a= (A) #R (D)
(2 & (A), (O #iR (D)
(3) = (B). (C) 3R (D)
@) ¥ (B) IR D)
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2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’. India’'s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi, Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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The common thread binding India and South East Asian Countries is/are
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(B} Yoga

(C) Cricket

(D} Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :
(1) (A) only  (2) (A), (B}, (C) and (D) only

(3) (A) and (D) only  (4) {A), (B), (D) and (E) only
YR UF OT-gE- o % N - - B
&) sigma

®) =
(C) Tz
(D) TEE
(BE) @&

8 fau u faesenl 0 o G998 390 1 9 it

() Fa= (&) () FF4 (A), (B), (C) 3 (D)
(8) Fa (A) FR (D) @ FaTA), (B) 3 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Optien ID = 13695]

2 [Option ID = 13696
. 3 [Optien ID = 13697]

4 [Option ID = 13698]
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’'. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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Which of the following is not reflective of India’s soft power status?
(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
frefafa # @ %A yRa 95 wfn-feuf = veia 7= = 37

(1)  Tsfest sl (2) FoA WRA
(8) ANE-GeEA 4) a-meifa

[Question ID = 3559][Question Description = Q48_GP_20N0OV_52_SHAAN_Shift2]
1 [Option ID = 13699]
2 [Option ID = 13700]
3 [Option ID = 13701]
4 [Option ID = 13702]
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’, India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.
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In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :

(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :

(1) (), (C), (D) and (E) only  (2) (A), (B), (C} and (E) only

(3) (A), (B) and (E) only (4} (B}, (C), (D) and (E) only
T - PR % a3 W W A - A 8 37
(A)  FUa

(B) <rFh-TiEcE

' T
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(E) faram
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1. 1 [Option ID = 13703]
2. 2 [Option ID = 13704]
3. 3 [Option ID = 13705]
4, 4 [Option ID = 13706]

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TETT ST Fe

(1)  YRA =1 FgWIRE =4 § 31957

(2) A= I b G Wit N
(3)  ura F weRles SBa

(4)  ¥A = TgFE 3 WY sy
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1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708]
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1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Dhstmbution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 1
September 25% 3:2
October 8% P
November 12% T B
December 16% 7:9

Freifpa @i =1 s o 2d oo we fagkar < g0 e 2019 o fegrax 2019 9% s e faf o
% forqmor <t ufderaa aor HP 3k DELL %=aft < waH safy 8§ fasfila B st % fta =1 sigam
ot T 2| 36t sradt A fosfia mdt sl wmomenl B 3 deEn 45,000 (Yarfam 29R) 21 arferm | fao

ITTHE = FTYT 9 99T 5T I &

Ftt Tt = s —Taes = far

it TRl = T

T = afawaar HP &
DELL
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What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same

company?
(1) 119 : 145 (2} 116 : 135
(3) 119 : 135 (4) 119 : 130

DELL %eat % g1 Jeits oiit femmsr 4 o= n3 Bfs gmort =it g &1 1aue a9 27

() 119:145
(3 119:135

2) 116
4) 119

: 135
- 130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]

1, 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months, Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

contamed 1n the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% T:5H
November 12% 7:8
December 16% 7:9

Freifpa aiferssr =1 e o 29 oo ue fagkar < g/ e 2019 o fRgrax 2019 9% s e fef o
% forqor ft ufemaa aon HP 3 DELL =w=afmt = wvH 2afy | fahig B st % sfta 1 smuma
gt T 2| o5 st A fsfia mdt s wmomnt B T weEn 45,000 (Yarfam TER) 21 arfeem | fao

ITTHE = FTYT 9T 99T =51 I 4

Frsft @morent =t wifteR-fera =1 e
aTH st @Rt = fora
o =i ufawraar HP 1R
DELL =
PIGEIREI
TS 17% 8:7
ST 929% 4:5
faam=r 25% 3:2
TFEE 8% 15b
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If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during

that month were sold without a discount?

(1) 882 (2) 1635
(3) 1638  (4) 885

PR e § HP 0T o 35% el woors g W e at 3H wee § HP @Rt % e B o

form e % 9= m?
(1) 882
(3) 1638

(2) 1635
(4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Freifpa afersr =1 s o 2@ o wF fakar < g0 s 2019 o g 2019 9% o= o fsft g
= feraor < wfwar qen HP 31k DELL ==afaat = au safs o fagha sl qoomst = = =1 stum
ggran T 31 g st ° e @ Bl sl e @ 45,000 (Gafee ger) 21 @it 3 i o

Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% r:h
September 25% 3:2
October 8% b
November 12% 7:8
December 16% 7:9

3THE & YR T 9T 51 SR S

st TRt =t mifEen- o w1 fa

g <t TRl 1 o
foraror =6 wfcerea HP 2t
DELL i
PIGEIRGI
BRI 17% 8:7
T 22% 4:5
s 25% 3.0
HFEE 8% 1:8
ECEE 12% 7:8
s 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
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(1) 6,49,900 (2) 6,45,900
(3) 6,49,400 (4) 6,49,500

IR FgeR % A DELL % & fagsan < weds fif aoors | 5, 433 = oe Wil e a1 33 mei

# fergrar =t Fopaam ww foen?
(1) ¥ 6.49,900 (2) ¥ 6,45.900
(3) % 6,49,400 (4) ¥6,49,500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4)  Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% &
August 22% D
September 25% 3:2
October 8% B
November 12% 7:8
December 16% 7:9

Freifpa aferssr =1 e o 2 o oo faghar < g0 S 2019 o fRgrex 2019 9% s e Faf g
% farawor St gfaerar qoar HP it DELL %=ttt % aum safy § fefia it gmoret % «fte =1 s
zzrrn 7 B gt s A foefa mdt TSl @t B 3 e 45,000 (Garfae g9R) 21 @i § 2o e
ITFHS = YN T 9T T S| S

fstt TRt =t mifeEn-Taws w1 fa

a1y <l worRl 5 T
foraror =6 wfcera HP =it
DELL #i
i
BRI 17% 8:7
T 22% 4:5
faarsr 25% 3:2
HFI 8% 1D
EEE 12% 7:8
femmsm 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

FE & TEA 8 HP %0 % g s e fFfi oot =i wen fooem % w8in 8 HP #0955 se e

=h gt i dem #1 e afeea 20



WWW.prepp.in

(1)
(3)

110% (Z) 140%
150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13723]
. 2 [Dption ID = 13724]
. 3 [Option ID = 13725)
. 4 [Option ID = 13726)

1
2
3
4

3) Consider the following table that shows the percentage (%) distribution of the number of

Personal Computers (PCs) gold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contaimed in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.7
August 22% 4:5
September 25% 922
October 8% Tih
November 12% 7:8
December 16% 7:9

Freifpa aifersr =1 e o 2 oo o faghar < g0 S 2019 o fRgrex 2019 9% s e el o
% feraeor it wfewaan @anr HP =it DELL #=f3= * a9 ety § fafia i anossl % = =1 s
gertn n 21 6 sraeh A fosfia et Fsft sl R e dem 45,000 (Yafag gen) 21 aifesm § 2o e
3THE & YR T 7T T SR S

st TRt =t mifeE-Taws w1 fa

feraror =6 i HP 2t

DELL i

PIGEIRGI

BRI 17% 8:7
ST 22% 4:5
faarsr 25% 3:2
HFEE 8% 1D
A 12% 7:8
fommsm 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?

(1)
(3)

10000 (2) 15000
10500 (4) 9500

3T U e g AgAi 3 DELL F501  gH1 o9 710 e (s SIorRl 1 5 9 27

(1)
(3)

10000 (2) 158000

10500 4y 9500

prepp
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[Question ID = 3566][Question Description = Q05_GP_20NOV_52_SHAAN_Shift2]
11

[Option ID = 13727]
2.2

[Option ID = 13728]
3 3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

finequr & e TR T STIeTATeRs: T % 3999 i Ta9T T9 Sl 2 7

1) TR wm (2) FEY T

(3) fomdi-fara == (4) Tamw oM @
[Question ID = 3567][Question Description = Q06_GP_20N0V_S2_ SHAAN_Shift2]
. 1 [Option ID = 13731]

. 2 [Option ID = 13732]

1

2

3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2} (A), (C) and (D) only
(3) (B}, (C} and (D} only (4) (C), (D) and (E) only

frefafia fafiemet € @ #F 91 =5agr yareh fas = e T e?

(A) TETE

(B) Tosm-wr-gaifigeiwm

(© wgew fafaam

(D) wE-vrEdan

(B) wam

Arer fa e farred] A W &) ST 1w HIR
1) == (), (B) 3O

(2) % (A), (O) FR (D)

(3 %= (B). (C) R D)

4) e (C), (D) 3T (E)

[Question ID = 3568][Question Description = Q07_GP_20N0V_S2_ SHAAN_Shift2]
1. 1

[Option ID = 13735]
2.2

[Option ID = 13736]
3 3

[Option ID = 13737]
4. 4
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3) Match List | with List |l gives their characteristic features.
List |  List 1l

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (1) Compares one student with another student

(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll}) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(I1), (C)-(1), (D)-(I1)  (2) (A)-(IN), (B)-(IV), (C)-(), (D)-(1}

(3) (A)-Q), (B)-(), (C)-(1M), (D)-(IV)  (4) (A)-(1}, (B)-(M), (C)-(I¥), (D)-(lIN)

g1 % o1 Te.IT 1 forer <Biform) o e mer o fofem wgfedl oY 2, ad qudt o v iR
woon 3| g1 wd g1 o faer ol

-1 TeI-11
TEATFA- TG Il E ol
(A) Tmiomeas g @ s faemf H g fenfi @ g w2
(B) TheHIcHD GoATehA I wr fgeefil H gon g@ Fuifa = @
-l 2|
(C) Tpu wefbia weaie (1) vuma: aafem i afigon g oHEaw %
ELAE R
(D) W Hefda gear (IV) wuma: Fumm wfe & yvisor 2g W
T 2

e B 7o feredl 8 @ w0 3o @ e Hifvo

1) @-AvV). B-dID. (O-(D). (D)-dD)
2y @A-UD. B)-aV). (CO-AD. D)-(D
@)  A)-aD, @)-@). (O)-d1l). (D)-IV)
@ A0, B)-1D), (C)-(IV), (D)-dID)

[Question ID = 3569][Question Description = Q08_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742)

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

Rasm s

% (@) : Toraror = wmft (yiferiier) gfesior =1 o wea fagra @ B e saw awfifys 6
Fart TE g A ST o W wepet S aE )

= (1D) : foren % yAfmoETd R g/ % oER it i saee fifTee =9 gyt
T =T

I YA 3Tl 1, H T T famedl § A 98 3T 1 == it ;

(1)  woE () A < wer B
(2) (@) 3R (D) A 1meT 8

(3w (D) O 2, A wY (1) o170 2
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@) = Q) @A 2, dfF w5 (D g 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements ; One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’,

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT

the correct explanation of (A).
(3) (A) is correct but (R) is not correct, (4) (A) is not correct but (R} is correct,

H= @ Fom fow 7w 2 ©F iR (Assertion A) % w9 ¥ fafiga ® 71 790 389 FRU (Reason R) &
w18 ;

A (A) e, R @ afrmal & ww wiiaeTs @ s JAEm W oaEie
A1 2, 379 TE TR uE aaw ¥ fim

F (R) : “FERTE T qREe g & AT SRR -UgH % i WO e gk 2l

UL HIAT o AA H, = e 7 foment 4 @ geg ugsh 3w o == hifsu

1) Q) ®) A wd E o R), Q) R ud e 2

@) (&) I R) I T, SR R). (A) F wd srE E 2
@) (AT R, A R) T T 2

@ (W TEFE g, df ®) wE 2

[Question ID = 3571][Question Description = Q10_GP_20N0V_S2_ SHAAN_Shift2]
. 1 [Option ID = 13747]
2 [Option ID = 13748]
. 3 [Option ID = 13749]
. 4 [Dption ID = 13750]

e it R

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

frfafiga wwl 4 @ frat wevias amefiem 6 e % v e s 27

(1)  =eA-g7a-Jard (2) sneriE fagra
(8)  TihIcH® FfharETg (4) TATIERE ST

[Question ID = 3572][Question Description = Q11_GP_20N0V_S52_ SHAAN_Shift2]
. 1 [Option ID = 13751]
2 [Option ID = 13752]
. 3 [Option ID = 13753]
. 4 [Option ID = 13754]

B R L ]

7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single cbjective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B}, (C) and (D) only (4) (C), (D) and (E) only

=t &t it fostyarett # @ 1ones g <k gz =)

(A) =g ulawrlt & aftiss O "ear & a9y ¥ grsi-ad 3
(B)  3ud 7g WA ST & @R 92 Few oF aegie aad & o2 26 3
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(© =il adEm W1 yaswfers et & FET | T 3
(D) e g | S % O ST AW W e ¥ AR T A
(E)  3a¥ womelt w@ wig-gfrn gF1 # aiensd g 8

42 fou 7o feat o @ e SR W 9ue i

() Ed Q), (C) 3 (B)
2 | (), B) IR (C)
(8)  Fad (B), (C) ¥R (D)

(4) s (C), (D) 3R (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758)

8) Match List | with List Il :

List | List Il

Methods of research  Features emphasized

(A) Experimental (1) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive  (lll) A variable is manipulated to see its effect on other variable

(D) Historical (V) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(IN), (D)-(IV)  (2) (A)-(I1), (B)-(1), (C)-(IV), (D)-(IIN)

(3) (A)-(1), (B)-(1V), (C)-(N), (D)-(1)  (4) (A)-(IV), (B)-(llI}, (C)~(1), (D)-(IN)

Ift-I < |y gei-11 % e il
- TH-IT
e gt Wt e d
@) e @) afes G TS &9 g A o
fedt=r aral =1 a9Ew o 2
(B) MR D vy w@ aon i Tl ghfvsa
Eicil]
(©) =S (M) g@t =7 T v9E 3E % forg oh = § R-W
o =T 21
(D) ufzri® AV) fadig %1 w9 @ g ke sEr o=
I GHTTad e T 2
2 ffu 7o e A @ T s W 9 it .

(1 A-D. B)-(I5). (C)-(IID), (D)-(IV)
2)  AXAD. (B)-1). (O)-IV). (D)-dIL)

(3) (AL, (B)-AV). (C)-(ID). (D)-()
4  (A-IV). B)-I), (C)-(D),. (D)-(II)

[Question ID = 3574][Question Description = Q13_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762)

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter,
Statement Il ; ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.
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F9 (D) : FEYFE H Tea-faveiuer ©F qeiehl B EH % BRU CSEYH- SR A

weEgul Ta 2
o (1) : FGHT % T Y = °§ o0, 4. A agre g 2

ST FYA F e |, T T e i ¥ 9 w9 s o 99 it

(1) = (@) 0 JD) 3 g #
) = (D) 3 JD) I AT E
(3) = () ucA &, il =9 (1) 319eT &

(4) = (I) 39 2, | e (D) §ed ©

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

Assertion {A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO} is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R} is correct,

=t @ e o e € : o oIfiruR (Assertion A) % ¥ W fafad ® @ 500 3% R (Reason R)

= F

st (A) - v fmeofia aferew T (T) sl = & ot @ @ sHEuEal R afeRe
(w=11) wfa g St 2

T (R) : i afiwew (T9) ©F T 9ieed T § 3T UH (T9:) W BH F HRO

FAGHFRAl 61 ufeheuAT w=hepfa i afdfy & sn e )
SYUTH YAl b reres 1, A fiw 7w faepedi # § gl S9RE IR o ©EA <hifag

1) (A) IR @®) T T E R R). (&) F TH e 2

@ @ R ®R) W =, AR ®), () B R e T 2

3 (AT 2, @tF (R) w8 @ 2

4) (A) 7@ 78 2, 9T (R) wél 2

[Question ID = 3576][Question Description = Q15_GP_20N0V_S52_ SHAAN_Shift2]
1 [Option ID = 13767]

. 2 [Option ID = 13768]

. 3 [Option ID = 13769]
. 4 [Dption ID = 13770]

e B

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

-~ " " Ea - L g - im - " - - % Ea a
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(1)  ==9w ida qisa (2) FaEE Tgia
(3) U Thd (4) U

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

prepp

Your Personal Exams Guide

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise,

Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A),
(3) (A) is correct but (R) is not correct,

(4) (A) is not correct but (R) is correct.

T &1 Y fou T 2 ;v AT (Assertion A) % ¥4 H fofad % @1 g@u 3% ¥RV (Reason R)

T

SR (A) WINN F WY § STAUNUNT UEH Tiea® &AM Scaiea F 2 ol Iiees -1

(TS—ara=t) F=d 2

w0 (R) : TN A1 aqae= gH1 = (1= 3191 % G Wiee® -T2 21

ST Al % ST |, A= f5u T fommedl § @ 99 ST 9 B 99 I ;

1) (A) 3R ®) T TE E R (R). (A) i T = 2

2 (@) 3 R) A GE E, SR ®R), (A) Fwd e =E 2
3) (A wE 2, A (R) wal & 2

@ AT R, @ ®) w6 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3, 3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | ; Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

4= 3t e fRg o B -
F5 (D) - Turet w1fees T 2 WERE WRG1 1 A AT B
w5 (1D : tiifige ame T Wi gya-aEme % a1

ITRFE A H oS 7, 919 G v et 8 o wdt s waa i
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FA (1) SR (1) 21 &3 &
s (1) 31T (11) SFT 2199 §
F (1) &F 2, Al T (1) 163 2

o (1) 319ed 2, wifte =ae (D) 99 3

[Question ID = 3579][Question Description = Q18_GP_20NOV_52_SHAAN_Shift2]

1
2
3.
4. 4 [Option ID = 13782]

. 1 [Option ID = 13779]
. 2 [Option ID = 13780]

3 [Option ID = 13781]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) {A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only {4) (D) and (E) only

wefafas geft & @ woivw i saret = Tga -
&) sl

(B) Sufsa omem

(C) U wd fem =i fi2eg w0

(D) == foam = e g =

(E) oifes e

H¥er fou T fammedl W | wEl S9 R < hifg
()  =ae (A) 3k (B)

(2) % (B) 3R (C)

(3) FAd (C) 3R (D)

4 % (D) M (B)

[Question ID = 3580][Question Description = Q19_GP_20M0V_S2_SHAAN_Shift2]

1

3.

1

[Option ID = 13783)
Ll

[Option ID = 13784]

3

[Option ID = 13785]
4, 4

[Option ID = 13786]

15) Match List | with List Il ;
List |
Types of Communication Main features

(A) Downward Communication (1) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

List Il
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| Choose the correct answer from the options given below : Your Personal Exams Guide
(1) (A)-(1), (B)-(I1), (C)-(1Y), (D)-(1)  (2) (A)-(11), (B)-(I), (C)-(I), (D)-(IV)
(3) (A)-(1I1}, (B)-(IV), {C)-(1), (D)-(11)  (4) {A)-(IV), (B)}-(1I1}, (C)-(l1}, (D)-(D)

g1 % = gE-11 = fem =hifse
i1 11
OO % THR T famreand
(A) e e (D H& % weEE ° womu i SAETEhar H
0w % fo vgma 9 wea B
(B) safomst Fesr D) wrt-mm=ma 3g Fom @9 § w st
HI59H ST 2|
(C) &fow mesm (I1D) =mwH fooe e et 6 ulagfs & @
=iy T 2
(D) TU-FTST GO (IV) TRt «ft Toop w1 7% gd-AmE GEm9
T 2l

I i o faedl § @ USSR 1 T i

(1)  @&-O. B)-ID), (CO)-IV), (D)-1IL)
2 @-dD. B)-). (O-d1D). (D)-AV)
3 @D, B)-aV). (O-(1). O)-aAD
@  (A-IV). B)-d), (C)-(1I), D)-(D

[Question ID = 3581][Question Description = Q20_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3, 3 [Option ID = 13789]
4, 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

afs e, Tawanea =1 25% 2 o i i i @ B 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4, 4 [Option ID = 137%4]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

ush foghal 26 Frelt smaer v, 20/Fhell % 3w wl W sEd W R B 30 Feel e fien 2@ @ B
354 & 36/ % 3 W wlE ar 9k 3@ v O gy e . 30/f6e % @ W Swa 31 59 e

#t afeeraar 9 T 7
(1) 5% (2) 10%
(3)  15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20N0V_S52_ SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4, 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk, What is his profit percentage?
(1) 33.33 (2) 66.66
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(3) 133.33 (4) 166.66 Your Personal Exams Guide
uw gu-foea ¥, X/ % | W 39 Tlg 9 T, 2X/TR F R W G9 2| TEeg 706 98 2 e g
SOF 6 Siet g g4 | Tire ga1 21 3%k @ <t wfawraa o 27

(1) 33.33 (2) 60.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Optien ID = 13799]
2 [Option ID = 13800
. 3 [Option ID = 13801]
. 4 [Optien ID = 13802]

oW R =

19) The average monthly income of P and Q is Rs, 5,050/-, The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs, 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/~ (4) Rs. 4,500/~

P ot Q =i sitea mifles 51 5050 ¥08 2, Q it R it sfiga 9ifis a9 6250 93 asn P ot R &6

sitea T 511 5200 93 21 P i arfes ana fnaed 2y v

(1)  3.000/- %9 (2)  3.500/- %53

(3)  4.000/- ¥ (4)  4.500/- TR

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4, 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms, What will be the value of
first term?

(1) 15 (2) 20

(3)25 (4) 30

4 FEMEAl F1 ST 20 B U7 IS WEAl T 3 TEAeT & A W 1/3 2| USell Hem % A a2 ¢

(1) 15 2 20
(3) 25 4 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809
4. 4 [Option ID = 13810]

21) According to Naiyayikas we ascertain the relation of universal concomitance between x
and v :
(A) We can determine the relation only if we can determine the relation of essential
1dentity between x and y
(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of y

(C)  We can determine the relation only if we can determine the relation of cause and
effect between x and ¥y

(D) By not percelving any instance where the presence of x 1s not accompanied by the

presence of y or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only

FE2 L AT el SR i T
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ey

3
(4)

\HI Lo ¥ T x\-!"’ UI-I-I-J

(B) and (D) only
(A). (B) and (C) only

Sl SR 7 x o y § i T w1 T g o )

(A)  x HAR y & < afEe! qages 31En Chioqhdl B greed GHTEd B 9 8 B9 TR B 9
T |

(B)  wfi TR § x F1 SUEa B WA y F1 IR F S B A1 T B

(C)  =m Ty i adl gETaa B TFd © 99 79 x 3R y 5 S S -FHR0 TRy gHived B

(D) x i JEaa F g y H st @ y F wE F wy x F s = 56 f e W=
FI9E T T |

e fou o fasmeat # © =@ s @ = Fitae

(1) % (A) 3R (O)

(2) = (D) 3K (C)

() %= (B) R (D)

@  F= (A, (B) AR (C)

[Question ID = 3587][Question Description = Q26_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4, 4 [Option ID = 13814]

22) Matoh List T with List IT :

List I

(4)

Vyapti

(B) Linga

©

Sadhya

(D) Paksa

List IT
(I) The property being inferred
(IT) Locus of hetu and Sadhya
(ITI) Sign or reason

(IV) Universal concomitance

Choose the correct answer from the options given below :

ey
)
(3)
(4)

(A)-O. (B)-(1I), (O)-1), (D)-AV)
(A)-dD, (B)-(1D), (C)-(), (D)-IV)

(A)-aV). (B)-(11L). (C)-(D. (D)-AD)

(A)-dID. (B)-M). (C)-AV)., O)-(ID)

gei-1 % s gE-11 = faerm =hifsm
g1

(&)

(B) T

(C) we

(Dy u&H

e

Fi= 3 7o fAwedl 5 O 8 I A T Hif

11
(D  Torgd 1 IEE
(ID) 2g I T1sa =/ WA
(III) TeFeT TYET HRA

(IV) arEsties gemiia

prepp
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(1)
@
3
4

(A)-(). (B)-(IID). (C)-(D), (D)-(IV)
(A)-AD. (B)-(ALD. (C)-(D. (D)-IV)
(A)-AV). (B)-dID). (C)-(). (D)-AD)
(A)-(ID), (B)-d). (C)-AV), (D)-dI)

[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I : According to Classical Indian Logic the fallacies (hetvabhasa) are not

errvors of inference, but rather hindrances to inference.

Statement II: A fallacy i1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements, Choose the correct answer from the options given

below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false,
(3) Statement I 1s true but Statement II is false.
(4) Statement I 1s false but Statement II 1s true.
fiet @t oy feg e 2
w97 (D) : RGP 5 T o SIER SedTHIE SIAH 1 A el Al =raEE )
Fu (II) TEAIATY TEgd: Y HHOT I Wohd § Sl PR sty ¥ e | A o

$i Seufe =1 FHamo = 2|

ITUH HA B a7 |, A= fBu 1v el 3 8wt sw W = Al

(1)
(2)
(3)

4)

weA (I) i () 391 749 &
F (1) ¥R (1D A1 staea §
w1 (1) Ted 3, wfe #99 (ID) 3/9es 3

Fu (D) 37 2, wfem 599 (D 9 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13819]
2. 2 [Option ID = 13820
3. 3 [Option ID = 13821]
4. 4 [Option ID = 13822]

24) ““All radically egalitarian societies are societies that do not preserve individual liberties’’.
Which of the following statements is true with reference to the above statement?

(1) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.
(2) ‘*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and

prepp
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it is not logically equivalent. Your Personal Exams Guide
(3) ‘*Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement

and it is logically equivalent.

(4) ‘*Some radically egalitarian societies are not societies that preserve individual liberties’ is converse of the given

statement and it is logically equivalent,

“Terd: Al BHATEE A U oA € o dafen e o w18 wa £ sreifafigg vl O 9 e
1 U I o e § wer a7

(1) =3 i 99a: FEAEE GAS VW A 96 @ S aAfew TEaaeadl F wuia war 21 T weA
<1 7Ig Ufdefaa 9 2 3 aifhs w0 ° gageT 2)

(2) 15 Hl Yo GUEEE qe U W FE & 9 3w waaear # Wi s 2) R e wem
1 Tg Ufaataa I & IR T 9 ¥ ormged |l

(3) T Yud: THAEE] GUS UE FA ¢ S dakes @ wida 81 Ry T w9 higes
amE & il T wa ¥ 7uE 2|

(9  F° Y AHAEE TEIS O S 6 6 S Safew e 9wl 99 81 R e e w5 g
Tftrret I 2 R @ik B9 | Tuged 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4, 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

31 ufamteEt =ammd 2 =2

(1)  wF, g g w2 W T S A

(2) TR, 3 6eA T ) & S oM oTHe TR 2 il

(3) I 3 S2vd HW fee vz fiym €, wa oy oflv aEn o s B

(4) IR I 27T IR T aum ¥ @R 2 e aon | a1 i 2 weg e et )
[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13827]
2 [Option ID = 13828

]
3 [Option ID = 13829]
. 4 [Option ID = 13830]

oW

26) What is the binary equivalent of the decimal number 67,6257
(1) 1000010,110 (2} 1000011,110
(3) 1000010.101  (4) 1000011.,101

HA T 67.625 w1 fganarh auges #0127

(1) 1000010 . 110 (2) 1000011. 110

(3) 1000010. 101 (49 1000011. 101
[Question ID = 3592][Question Description = Q31_GP_20N0V_S52_ SHAAN_Shift2]
11

[Option ID = 13831]
P

[Option ID = 13832]
3.3

[Option ID = 13833]
4, 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.
(A) RAM
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(B) Optical Drive
(C) CPU Cache

(D) 55D

Choose the correct answer from the options given below :
(1) (B}, (D), (A), (C) (2) (C), (D), (A), (B)
(3) (A), (B}, (C), (D) (4) (C), (A), (D), (B)

UFHE 2I5H h I H T@d g0 Fe O o wa i, Wk % o o 7y e w4 o wd @ R ggee

Ey

@ @

(B) ofifwsa grsd

(C) =iy, F9

(D) uwH.uhdEl,

I fow o fawed § O dl I s w9 e
(1) (B). (D), (A). (C)

(2) (0. D). W.®

(3) (A, B). (C), (D)

(4 (©). (A). (D). (B)

[Question ID = 3593][Question Description = Q32_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838)

28) Given below are two statements :

Statement | : The abbreviation *MOOC’ stands for ‘Massive Open Online Courses’,
Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.

e gt o feg e g
&9 (1) : g, 317 375, T uaee & - B o s wew
9 (1I) : T, S5 ¢ A. CUA, B Haes § - @8l deW 3w UfFea-wfn w Am thefie

S

I R 3T |, i A T faemeat O @ gt sow o = Hifa

(1)
(2)
3

(4)

=9 (1) 3 (1) 31 wen &
e (I) o (AD T 318 &
o (1) oea 2, afa F99 (@) s5a 2

o (1) o0 2, S w9 (1) 5 2

[Question ID = 3594][Question Description = Q33_GP_20N0V_S2_SHAAN_Shift2]

bl D

1 [Option ID = 13839]
. 2 [Option ID = 13840]
. 3 [Option ID = 13841]
. 4 [Dption ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B} On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

prepp
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L (1) (A), (B) and (C) (2) (A) and (C) only Your Personal Exams Guide
(3) (B) and (C) only (4) (A) and (B) only

frefafiaa 5 8 F9-= ¥ ®@ T g 4 eng.di.d. i gt @ aeafe §?

(&) TR FEES 7 95
(B) AT YaE

(C) = 3w ¥ e fafrcadhm fan

= fam o fwedl § O g I w1 T i

1 (A B RO
(2)  #Had (A) R ()
(3) @« (B) 3R (C)

(4) I (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20N0V_S52_ SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4, 4 [Option ID = 13846]

30) Match List | with List Il ;

List I List Il

(Computer Terms) (Description)

(A) HTML (1) Semantic Web

(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(N), (B)-(1), (C)-(IV), (D)-(Il)
(3) (A)-(ID), (B)-(IV), (C)-(1), (D)-(N1)  (4) (A)-(IV), (B)-(llI}, (C)=(1), (D)-(I1)

=1 % o gE-11 = firem fifs

-1 gfi-I1

HvERg U2 oo
(4) v @ wifew aw
(B) @% 2.0 (ID i Fed FE & e wedz = gam
(C) 3% 3.0 (IID) & o i 51 % foe sErr =6 5 A
(D) .ot e . (IV) wIsErfes 39
e fam T famedt § W wE I w1 AT A

1) A-dIh, (B)-aV), (C)-1D), D)-ID
2)  @-dID. B)-@). (O)-AV), (D)-aADH
@  A-aDh. B)-AV). (O)-D, O)-d1D)
@  A-IV). B-AID. (C)-1), (D)-(ID

[Question ID = 3596][Question Description = Q35_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
| 4. 4 [Option ID = 13850]
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31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

= 2 w9 Ru e 2 .

H (D) - ot g W vfage wwE =t i sEm-mite & wmy-my TeeE-Eees ) s
TS 21

w9 (D) : e STE, S-wa & g9y o g 2|

SuTih YA STEn |, {9 e v feredl § o @@ 59 =wa fife

) = (1) 3 A0 2w §

@) e (J) R (D) ST 3Taed &

(3) = (D) uA B, afra we= (1) 18 3

4 = (D) g 2, 9 e (D) g B

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13851]
2 [Option ID = 13852]
. 3 [Option ID = 13853]
. 4 [Option ID = 13854]

P bl D —

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

freforiga & 3 =5 @1 39 30 fm are 6 awr i fGva % g9y 53 gR-a-Sei-sam i e i
ufsFar § wem 27

(1) =m (2) 9rE
(3)  wfem (4) wIdi-arm

[Question ID = 3598][Question Description = Q37_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4, 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (5DGs).
Reason (R) : Many of the 5DGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

=t 3w fam e 2 @ oF e (Assertion A) ¥ ¥ # fafd ® @ 780 30% FRW (Reason R) %
E‘Ilﬁ:

AR (A):  wuwee free wem (vw.dsh.) H iy g o s s 2

T (R) : %3 0.3, swaEg 2
SRR Al ok AR |, Hi= fau 1 femeat d 9 g9 SuEk 3w w0 =wA hifay
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1) (A sk ®R) 2 = F &l (®). (&) 6 v =

2) (A 3R (R) I GE E, A (R), (A) I wdl e T 2
3 (AN E, A (R) w6 @ 7

@) QTR IR R R

[Question ID = 3599][Question Description = Q38_GP_20NOV_52_SHAAN_Shift2]

1.1

[Option ID = 13859]

iR

[Option ID = 13860]

ai

[Option ID = 13861]

4, 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

prepp
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Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly

degraded environment,
Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) {(A) is false but (R) is true.

Hrt 31 = for 10 2 ;o iR (Assertion A) % ®9 # forft@ ® @ g0 3@ FWW (Reason R) %

.
= H :

ATFA (A): TS IR TFER F I 3 IR o fafreagt witfetas-an w o ot s
O AT § giEtad = e 2

F01 (R) : GTd) % AT § B & 3% YRedd SNEaHE Bl

ST FUA T S A, e e T e 1 O wEl SR W =99 i

(1)  (A) 3 (R) TH T3 2 3 (R), (A) Fi w8 =ame 7
(2)  (A) IR (R) gF wem £, | (R). (A) 1 T8 =mem 78 2
3 (AT, alE (R) 98 sweT 2

@ (A sme TE 2, 9 (R) T 3

[Question ID = 3600][Question Description = Q39_GP_20NOV_52_SHAAN_Shift2]

Pt

[Option ID = 13863]

Luk

[Option ID = 13864]

(I

[Option ID = 13865]

4, 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) ~ 57% (2) ~ 42%
(3) ~ 37% (4) -~ 28%
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T st el i 4t W ey i wreE £

(1) ~ 8% (2) ~42%

(3) ~ 37% 4) ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frafafa # %9 W q09 AR o9 4 T8 w1 ¥ Ao g watia e s w20

(1) el WiEhios qod (2) g Yl e
(3) & (4) sTH-F=al

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

. & om, =1 Taee & -

(1) ~—IEd a8 dza whin (2) =aTEd S Hiee G
(8) T WIS AT Hiee THrd (4) HfEe =S ATF Fow WiHH

[Question ID = 3603][Question Description = Q42_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876)

3. 3 [Option ID = 13877)

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona VYirus Disease strain 19

(3) Corona Yirus Disaster 2019

(4) Corona Virus Disease 2020
FHifae-19 + oo & -

(1) =T arsE S 817% 2019
(2) BRI AE ST A 19
(8) =BT =A@ TSR #11% 2019

(4) =T amgea e 21 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_52_SHAAN_Shift2]
R

[Option ID = 13879]
2. 2

[Option ID = 13880]
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[Option ID = 13881]
4, 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Hifd (NITID) s1ar =1 daas & -

() el IR IR g g
(2) AU SREITHE A% AN 3ETE
(3) A TS 3F ISR T
(4) T T ATF TOEEIH & FIEAYH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il ;

List 1 Listll

(Days Celebrated) (When}

(A) Earth Day (1) 24 January

(B) UNO Day (ll) 5th June

(C) Environment Day (lll}) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(N), (C)-(), (D)-(IV)  (2) (A)~(1V), (B)-(Il1}, (C)-(1), (D)-(II)
(3) (A)-(I), (B)-(I¥), (C)-(1), (D)-(1I)  (4) (A)-(IV), (B)-(1l1}, (C)-(Il}, (D)-(D)

-1 =% wry 11 =1 T fifsm
il G-I
EC foofi
(A) geEit-feEm @ 24 570
(B) ¥ Ty ¥ famw D s
(C) wATRu-Teay (I1I) 24 ITFR
(D) org e fam IV) 22 =
fa fam o famedl § © O 3T w1 Ee ST

1 A-OD. (B)-I), (C)-AD. (D)-(IV)
@2 A-IV), B)-(IID), (C)-(), (D)-(ID)
(3)  A)-AD. B)-IV). (O)-(), D)-dID)
@  A@-IAV). B-dID. (C)-AD. D)-(D

[Question ID = 3606][Question Description = Q45_GP_20N0V_S52_ SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4, 4 [Option ID = 13890]

prepp

Your Personal Exams Guide




WWW.prepp.in

prepp

limnmmmmmmheAmenineei il ———




